9050672

- ND

THE

| %
AN

CHARLEMONT, MASSACHUSET TS

“repared DYy:
DCE Engineering, Inc.

POBox879 ™ 109BradyCt. ™ Cary,NC27512-0879 ™ USA ™ (919)467-3853 ™ FAX(919)469-4901

~

0
.

REHABILITATION  OF  TH

DGR

NV N\ NV % N\ i N N
AN IA AN lvA AN AN AN A

gy Li3assvd

i
Loy,
PROJEC T LOCATION

FISCAL | SHEET
STATE |FED. AID PROJ. NO.| "YEAR | “NO.

TOTAL
SHEETS

MASS. | BR=XXX—XXX(XXX) | 1997 | XXX

XXX

PROJECT FILE NO. XXXXXX

NDEX
oHekEl NO. HTLE

G GENERAL DRAWING

S MATERIAL LIST

-7 - LeVATION

-] PORTAL ELEVATION AND
- RAMING

-5 CROSS SECTION

-4 -LOOR TRUSS DETAILS

1] - XISTING BRIDGE  TRUSS

17 REHABILITATED BRIDGE
TRUSS

- - XISTING FLOOR  PLAN

N T W FLOOR PLAN

-/ ROOF FRAMING PLAN

D DETAILS

D7 DETAILS

-5 DETAILS

A GUARD RAIL

Do FAST ABUITMENT

Dle WEST ABUIMENT

57 ABUTMENT REINFORCING

S APPROACH SLAB

“repared for:
T'HE TOWN OF CHARLEMONT




SILITATION

FISCAL [ SHEETTTOTAL

STATE |FED. AID PROJ. NO.|"v2an- | PN |SHEETs

MASS. | BR-XXX=XXX(XXX) | 19XX | XXX | XXX
PROJECT FILE NO. XXXXXX

NEN / /NN / /NN / /NN / /NN / /NN / /
INDEX OF SHEETS
SHEET NO. TITLE
= - XISTING PLAN, PROFILE
P ) - XISTING PLAN OF ABUITMEN T
- - XISTING HALF ELEVATION, DETAILS
- - XISTING PORTAL END FRAMING, DETAILS
- - XISTING SECTION, PROPOSED SECTION
N - XISTING HALF ELEVATION OF TRUSS
B EXISTING FLOOR - PLAR DCF ENGINEERING
- ) - XISTING HALF ROOF FRAMING PLAN CARY, NC
D - XISTING DETAILS

/

ISSUED FOR CONSTRUCTION

MASS

PROPOSED BRIDGE REHABILITATION

TOWN OF CHARLEMONT

STATE ROUTE BA
OVER MILL BROOK

THE COMMONWEALTH OF MASSACHUSETTS
MASSACHUSETTS HIGHWAY DEPARTMENT
10 PARK PLAZA BOSTON, MASS

BRIDGE ENGINEER CHIEF ENGINEER

SHEET AT OF 20

SHEETS BRIDGE NO. C—5-5 (XXX)




BILL OF MATERIAL LIST FOR TIMBER

DESCRIPTION SIZE SIZE LENGTH SPECIES GRADING GRADE MOISTURE BOARD NUMBER TOTAL REMARKS
AGENCY CONTENT FOOTAGE OF BOARD

N&E@@Q Q%T&ASL PER PIECES FOOTAGE

SECTION SECTION PIECE REQUIRED

(INCHES) (INCHES) (FT. & IN.) PER CENT BF BF
LAMINATED TIMBER
BOTTOM CHORD 6 3/4” x 19 1/4”7 |94 =1 1/4” SP SPIB COMB. 56 16 1757 4 7026 (TOTAL LENGTH) PRESSURE TREATED
FLOOR DECK 8 3/4"x 48 1/8” |94'=3 1/4” Sp SPIB COMB. 56 16 5499 5 27496 (TOTAL LENGTH) PRESSURE TREATED
FLOOR DECK 8 3/4"°x 35 3/4” | 94'—3 1/4” SP SPIB COMB. 56 16 4085 2 8170 (TOTAL LENGTH) PRESSURE TREATED
TRUSS TOP CHORD 5" x 19 1/4” 25'—5"” SP SPIB COMB. 56 16 356 10 3560 (TOTAL LENGTH) PRESSURE TREATED
TRUSS BOTTOM CHORD 57 x 19 1/4” 32'—1 3/4” SP SPIB 24F 16 450 10 4500 PRESSURE TREATED
FLOOR TRUSS VERTICAL WEB 5" x 11" 6'—10 3/4” SP SPIB 24F 16 56 20 1104 PRESSURE TREATED
FIRST FLOOR TRUSS DIAGONAL 5” x 15 1/8” 10'=7" SP SPIB 24F 16 117 20 2340 PRESSURE TREATED
SECOND FLOOR TRUSS DIAGONAL 37 x 117 9'—9 5/16” SP SPIB COMB. 56 16 53 20 1060 PRESSURE TREATED
THIRD FLOOR TRUSS DIAGONAL 3" x 11" 8—11 1/8” SP SPIB COMB. 56 16 48 20 960 PRESSURE TREATED
FLOOR TRUSS BLOCK 5" x 11" 1"=9 1/2” SP SPIB COMB. 56 16 15 5 1125 PRESSURE TREATED
BRIDGE TRUSS VERTICAL 6 3/4” x 9 1/27 |25-2 1/2” SP SPIB COMB. 56 16 295 10 2950 PRESSURE TREATED

60291 TOTAL
DIAGONAL SISTER 6 x 18 24'—0" DF WWPA NO. 1D 19 216 1728
DIAGONAL WEBS 6 x 18 26'—0" DF WWPA NO. 1D 19 234 16 3744
5472 TOTAL

FISCAL [ SHEETTTOTAL

STATE |FED. AID PROJ. NO.| "vaamt | PNE [oitas

MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX
PROJECT FILE NO. XXXXXX

THE QUANTITIES SHOWN ON THIS SHEET ARE PROVIDED
FOR THE CONVENIENCE OF THE GENERAL CONTRACTOR
TO INDICATE THE GENERAL SCOPE OF THE WORK AND

IS NOT MEANT TO INCLUDE ITEMS NOT SPECIFICALLY
TABULATED, WHICH ARE REQUIRED OR IMPLIED BY THE
DRAWINGS. THE CONTRACTOR’S BID PROPOSAL SHALL BE
BASED ON THE ACTUAL WORK TO BE DONE TO PROVIDE
A COMPLETE REHABILITATION OF THE COVERED

BRIDGE BASED ON HIS OWN SITE INSPECTION AND THE
REQUIREMENTS OF THE PROJECT.

*

XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION

XXX USE ONLY PRINTS OF LATEST DATE

SHEET BT OF 20 SHEETS BRIDGE NO. C—5—95




REMOVE EXISTING —

3) 3x6 RAILS FISCAL | SHEET | TOTAL
(3) 3x STATE [FED. AID PROJ. NO.| G2z | °NO- ' |SHEETS
MASS. | BR=XXX=XXX(XXX) | 1997 | XXX | XXX
N
PROJECT FILE NO. XXXXXX
7
REMOVE EXISTING — “_
POST \
Al
o F
N 9
- REMOVE EXISTING
/ WHEEL GUARD
—— WHITE OAK ) ~ 4 ,||'4
—— REMOVE EXISTING FLOOR. EVERY - {3 /2 ;‘é"BREERM CISED © i o
OTHER PLANK IS TOE—NAILED L4 L4 6 . 608 WHEEL GUARD f /
10 AR R $Z>X1B/E2”F<EF%\T/ED " I REMOVE EXISTING N/ 7o e meoveD :
\.\ § ,/1” ASPHALT q‘_—"——” i
2"x1/4”" STRAPS 7 1 — } 6x16 TO BE REMOVED
2'2670.C. WELD Il 6 FLOOR T EXISTING /K
TO E H FLOOR TO 1l » »
| @ i 6" FLOOR TO BE 4 :{| £—6x16 BE REMOVED l 7 /_?éBBEDllR/’AEM%\/ZE7D BOLT
REMOVED ———F I N\ _ __#'_/_ _/
< l < ' ' o 3 | ° Pefe=r
5/8”" DIA. x 27" BOLT i L L || I
| TO BE REMOVED d=== /=B lle——3/4” DIA. |BOLT B __i':'c__ i
[o] | 1 g TO BE REMOVED BF = === |5
' i w LH,J T REMOVE
i " REMOVE EXISTING k 24 kB8 x12 EXISTING 8 x 12
EXISTING —— EXISTING 2 REMOVE HANDRAIL POSTS % T2 101/ - /2 @t /2
DOUBLE FLOOR ,
1
STRINGERS 9 BE REMOVED. ; BOLTS TO BE REMOVED. L 2l Sl
TO BE [a -2 3/4”
I ;2 3/
REMOVED. Lo 14 & |
o0 o o ” ” ” 2
= la | x| 3 ] SEE SHEET R—1 FOR NEW 1/27x7 1/2"x21” R, >
R |7 ! ANCHOR STRAP GUARD RAIL DETAILS TO BE REPLACED
. .| TO BE ABANDONED L
A 81/2" 16 1/2
Vv
FEXISTING RAILING FEXISTING WHEEL | 2"x2"18" ANCHOR

EXISTING SECTION A—A

SCALE 1"=1"-0" SCALE 1"=1"-0" SCALE 1"=1"-0"

10 Be REMOVED GUARD SPLICE SLATE WTH 1/4°

FILLET WELD TO BE ABANDONED.

EXISTING END FLOOR BEAM BEARING Db TAIL

SCALE 1”"=1"-0"

EXISTING ABUTITMENT SECTION
SHOWING EXPANSION D TAIL

SCALE 1"=1"-0"

/72” ASPHALT

|
|

2 2 '] H |
9°x1/2” PLATE — LU
TO BE ABANDOM L
- |

|

/ L 2147 L 8"x12”
2”)(1 4" STRAPS ” I » ”» II ”» ”» 1 ”
11/2 11/2
2'-0"0.C. TO S 8x12 % /2 20 10 1/27 ) 10 1/2° 2" 1/ %
BE ABANDONED , L M 1 :|I ]
3 3/4"
7 Jb
L —
i |
If 6"
| ” ” ” ) 2 2 ) 2
”k\ 1/2°x7 1/2"x21” R o|L—1/2"x7 1/2"x2'—4
JD I L ANCHOR STRAP L6 pLATE
3\3/4" —
SEE DETAILS ON D5 AND 1/2")(2”)(18” ANCHOR
D6 FOR NEW CONCRETE — SEE STRAP ATTACH TO
SHEET 52 PLATE WITH 1/4”
FILLET WELD

|
ko
\—ANCHOR STRAP TO BE ABANDONED. N EW FLOOR BE/A\F\)| N G DET/A\|L

6 1/2" SCALE 1”=1"-0"

8 1/2"

NEW ABUTMENT SECTION XXX ISSUED FOR CONSTRUCTION

SHOWING EXPANSION DETAIL oo | s ESERETON

SCALE 1"=1"-0" SHEET D1 OF 20 SHEETS BRIDGE NO. C—5—95




FISCAL [ SHEETTTOTAL

STATE |FED. AID PROJ. NO.| "vaamt | PNE [oitas

MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX
PROJECT FILE NO. XXXXXX

10 3/4" THE TYPICAL 10 3/4"
21" 6x10 PURLIN IS CUT ROOF STRUCTURE
¢ A7 AND BOLTED AS SHOWN G TO REMAIN 1”7 ASPHALT PLANK 6” LAMINATED FLOOR
/ AT EVERY OTHER TO BE REMOVED TO BE REMOVED
1/ PANEL. W/ 3/4” DIA. ol
BOLTS TO REMAIN. ¥
| | i | - | i 10 RIDGE / TO BE REMOVED
LI |
E_ HAIL/ —% AN L, W TO REMAIN 6x16 STlRINGER\E = AR 6x16 STRINGER
% o % % A % 3/4” DIA. BOLT —————= TO BE REMOVED g TO BE REMOVED
li | ] | , »
6x10 PURLIN ! T T 10 REMAIR 2 1/2" SPLIT RINGS 6x10 BLOCK "| éoﬁg 10 B P
0 It | % / ) . | 7O REMAN TO BE REMOVED REMOVED. -
- | o o B j 3/4 DIA. BOLT
7 Z HEX NUT TOP T UPPER LATERAL
TO REMAIN AND BOTTOM X—BRACING 4x8 OR 3x8 LATERALS HEX NUT TOP
ol o ls TO REMAIN TO BE REPLACED | AND BOTTOM
Xl Q % | x Y| € x | X | |
L\ L) s L J , k
1 | _ | — _ L _ |- P2 |4 4 <
| |

3-3/4"¢ BOLTS

EXISTING SECTION B—8 CXISTING SECTION C—C EXISTING DETAIL "A” EXISTING DETAIL "B

SCALE 1”"=1"-0" SCALE 1"=1"-0" SCALE 1/4"=1"-0" SCALE 1/2"=1"-0"
4-9 1/2"
o SYMMETRIC(AL ABOUT o
7|6'L Q 7|9|L 2
Noqanoa » » » 1/2"x2"x18” L 21 I
1/2"x16"x1'=5 1/2 —13/16” DRILLED HOLES FOR 3/4” DIA. BOLTS ANCHOR STRN M
/7 —1/2” GUSSETS ATTACH '\Q
3-611/2" WITH 1/4” CONTINUOUS FILLET ¢ BEARINGS \\ -
- - WELD AS SHOWN N I |
1/2 1/2 1—4 e g B o
7" -9 1/4” -9 1/4” 7" / ” ” . ~
N
. 6”)(18” }
N )
3/4"x16"x4 =9 1/2" PLATE e
1'-9 1/4" 1’-9 1/4” ™~
3—6'1/2" 1 3/8"x2 1/4” SLOTTED HOLE ;; ;; - E><|ST|NG MASONF\)Y PLATE
FOR EXPANSION SHOE. 1 3/8" DIA. A | Al ik 2
HOLE FOR FIXED SHOE A AR ) >
6"x4” TROUCH. i | o el | Wl i L?
; / o PITCH 2" TO END TR T =
‘ - o | IP | U \
R e R s I S | 7% . — . N S
o ; 5 A ﬁ* - ﬁ@r'q'% == ‘ 1/2"x7 1/2"x2"—4” PL "
AXXPXXXS| + ___________ - N s = ( K ELEVA'“ON ABUTMENT 9/16” HOLE |
XX XXX X X 'Qv Q | | :i— FOR 1/2” Dl/A‘\ \ :E\l
o w0 N [l LAG SCREW o ) }
] " o~ — []1 ~
31/2 21 1/4" 21 1/4” 3,1/9 b , — — A
4-9\1/2" & L 2"x6”"x3'—6 1/2° PLATE MACHINED 11/2 2-17 11/2 v
—1"x6"x4'=5 1/2" PLATE 7 TO 6” RADIUS AS SHOWN 2-4" 9
ATTACH TO PLATE WITH 1/4” M
CONTINUOUS FILLET WELD
?Ij ”
e O B 2’—1 ”1/4 DIA. ANCHOR”BOLT”S
AL 21 14" D icron oo CXISTING BEARING PLATE
WASHERS, 1 5/16” DIA. HOLE
| 3/8" HOLE / FOR END FLOOR BEAM
1 3/8" 42 1/2" 1 3/8" FOR 1 1/4”¢ BOLT
p R 6,/ ‘ SCALE 1/2"=1"-0"

De TAIL OF  TRUSS

BEARING AND MASONRY PLATE
(#) EACH REQURED EXISTING ABUTMENT SECTION

SCALE 1"=1'-0" SHOWING TRUSS BEARING

*

SCALE 1’=1'=-0"
AXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION
XXX USE ONLY PRINTS OF LATEST DATE

SHEET D2 OF 20 SHEETS BRIDGE NO. C—5—95




10 3/4" THE TYPICAL———— 10 3/4”
6x10 PURLIN IS CUT

G f4 x6 %11 AND BOLTED AS SHOWN G
AT EVERY OTHER
/W PANEL. W/ 3/4” DIA. 5 | 5
BOLTS TO REMAIN.

-

H 1 H a H
| || I Il
I I % % | 4! Il | %
6x10 PURLIN [ I [ Td']ii | I | ii$T
TO REMAIN IR A | /
A LD 1 _L L1 il Ll
gy o ﬁztr g Z
TO REMAIN
| © © |9 <| © © [T
N % o] s < |&
LA A Sl B

3—3/4"¢ BOLTS

CXISTING SECTION B—8 FXISTING SECTION C—C

SCALE 1°=1"-0" SCALE 1"=1"-0"

6x10 RIDGE

TO REMAIN

3/4” DIA. BOLT
TO REMAIN

J .
HEX NUT TOP——

AND BOTTOM
TO REMAIN

|
>
I

ROOF STRUCTURE
TO REMAIN

2 1/2” SPLIT RINGS
TO REMAIN

UPPER LATERAL
X—BRACING

EXISTING DETAIL "A”

SCALE 1/4"=1"-0"

6” LAMINATED FLOOR

TO BE REMOVED

- N

1”7 ASPHALT PLANK
TO BE REMOVED :
TO BE REMOVED
i

|
6x16 STRINGER —— HN/AA =

|
R —~—6x16 STRINGER
TO BE REMOVED
2 3/4" DIA. .

N~

TO BE REMOVED M
/

6x10 BLOCK /| BOLTS TO BE 7
TO BE REMOVED REMOVED. +
3/4 DIA. BOLT

4x8 OR 3x8 LATERALS HEX NUT TOP

TO BE REPLACED / | AND BOTTOM

| |
4

< /
|? 14

N
1

EXISTING DETAIL "B’

SCALE 1/2"=1"-0"

STATE

FISCAL | SHEET [ TOTAL
FED. AD PROJ. NO.| "VEAR | “NO. |SHEFTS

MASS.

BR—XXX=XXX(XXX) | 1997 | XXX | XXX

PROJECT FILE NO. XXXXXX

XXX

ISSUED FOR CONSTRUCTION

XXX

DATE

DESCRIPTION

XXX

USE ONLY PRINTS OF LATEST DATE

SHEET D4 OF 20 SHEETS BRIDGE NO. C—5—95




STATE [FED. AID PROJ. NO.| Ml [ S5 [ 01A
MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX

Q PROJECT FILE NO. XXXXXX
x
4@13 1/2 <
#LOOR BE/AM 1/2” x 9”7 PLATE aa 1/2” x 9”7 PLATE
| TO BE REMOVED TO BE REMOVED
!
18" 2_0" | 15" 18" SEE DETAILS FOR APPROACH SLAB 2_0” | 15" 18 SEE DETAILS FOR APPROACH SLAB
2’—0" | 15" _ 18" [ ______K __________ .11 ] K _____ o
#4@12 CONT.—— Ny © =
EL. 648.84 EL. 648.84 EL. 648.84 1 e EL. 648.84 ~ 1 ﬁ_'________f ___
3/4” @ 127 2. L - #4@13 1/2 DWL. EPOXIED OR =
\/‘/ = EL. 647.91 GROUTED 8” INTO EXIST. CONCRETE. EL. 647.91 Iy
~— ____Iﬂ._
n = . EXISTING #6@12 EXISTING — 2 r‘ EXIST. #6@12 EXISTING FLOOR— [ — F —— EXIST. #6@12
| /2" SPACER BARS | FLOOR BEAM v L BEAM BEYOND F— .
STONE (ALSO < _ 5/8,, y 11,_0,, EL 646.22 ! i SEAT EL. % SEAT EL. ) . »
, | —— EXISTING #4@12 HORIZ. EL. 64597 44@13 1/2 DWL. EPOXIED OR EL. 64597
FACING BARS IN ADDITION TO TYPICAL . Y 2
> — M\ W/ 3#5 x 11°=0 N GROUTED 8” INTO EXIST. CONCRETE. T
1/2” SPACER BARS.) _ ' . ADDITIONAL BARS. . 1 . :
f ‘ ‘ EXIST. #4@18 EXIST. #4@18
EL. 644.29 EL. 644.29 S ) EL. 644.29 / EL. 644.29 /

| 6 IN 12 ) | 6 IN 12 ) 5N 19
6 IN 12 S < Yoo - T = oo 1
N %APPROX LEDGE LINE APPROX. LEDGE LINE 4 WEEP HOLEJ\ APPROX. LEDGE LINE 4" WEEP HOLEJ\ \— APPROX. LEDGE LINE

A

SeECTION SECTHON A—A SECTION B—B SECTION C—=C

SCALE 1/2"=1"-0" SCALE 1/2"=1"-0" SCALE 1/2"=1-Q" SCALE 1/2"=1"-0Q"

c4—‘ B4—‘

4

v O %

— O —

L L L

O O O

& ! 1/2"x9"x24'—0" PLATE !

49'— 0" / TO BE REMOVED |
8 -0 5 -0 I 2 -0 12 -0 / 12 -0 2 -0 5-0 /=0

APPROX, LEDGE OR - ;_On 4’_0” 3;_0;’ 4’—6” 4,—6” 4’—6” / 4’—6” 3’_0” 4’_0” ’_On
GROUND LINE AT
FACE OF ABUTMENT \

i N i *t FL. 648.84

-
]
—e
i
7
, I
/
/ a
/
°
/
/
°
[
|
< ]
%)
o
=z
O
o
O-!_
O
A
o !
r'—ll
>
=
n |
U
N
Y%
-
r
°
o))
A
o1
© “
~
SN——9 ,l
®
°
e ,:
!
Y1411 3/16
3—6

ol o T T R R EERELEERER .
= I e ' ' ' ' hﬁ@ﬁ:@ |
I B — X = wm N I LV IR
FL. 642.29 + (\1 //&m(r]/\// , , ﬂ(\j %j ““““ O \ ’\7(’\ // -

| AN \\ \\ \\ \\ \y \\ \\ /\\ \\ \>< \\ \\ \\ /\

BRIDGE SEAT EL. 644.29 (LEVEL)

CLEVATION OF WesST ABUITMENT

*

SCALE 1/2"=’|'—O"
XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION
XXX USE ONLY PRINTS OF LATEST DATE

SHEET Do OF 20 SHEETS BRIDGE NO. C—5—95




FISCAL [ SHEETTTOTAL

STATE |FED. AID PROJ. NO.| "vaamt | PNE [oitas

MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX
PROJECT FILE NO. XXXXXX

,]8” 187’ @
2 EXISTING
, GUARDRAL %
1'-6"1'—3" 2'—0 1'-6"1'—3" 2'—0 1'—6"1'—3" 2'-0
__________________ G OF BEARING I ¢ OF BEARING EXISTING——— |
GUARDRAIL %
___________ EL. 648.47 R EL. 648.47 = EL. 648.47 TO BE &648.47 EL. 648.47
Ny @ REPLACED W\ \ ) ~ : )
46 @ 18— [ == 46 @ 18— [ = 46 @ 18— | L] , STONE FACING - ,
) — " EXISTING [ L] EXISTING R
\ ) \ __PITCH 3/4” BETWEEN BEARINGS \ C N 46 © 18 - -
il EL. 645.60 ] FL. 645.60 (FLOOR BEAM SEAT) , EXISTING , ,
_._I'_ . r—/‘ '_l_" B N
4 © 18 ' FL. 643.81 f4 © 18 : FL. 643.81 et O 18 : L | ‘ 7 FL. 643.81 éﬁ'SC%NéS o . ﬁS'SC%NES -
—— S EXISTING | L e 44 @ 18 HORIZ.
L L O/ . EXISTING
C EXISTING C EXISTING 2 C EXISTING SECTION 7 C
. STONE . STONE : STONE
& C FACING & C FACING © C FACING SCALE 3/8"=1'—0"
~ TO REMAIN ~ TO REMAIN EXISTING TO REMAIN EXISTING
S [ S [ 6”x4” TROUGH. ( / STONE FACING
© o i
: g
C C SECTION C—C
C C SCALE 3/8"=1"-0" [
EXISTING [
SECTION A—A SECITION B—B " o SCREENED GRAVEL APPROX. LEDGE LINE
0 & 0 EXISTING [
”_ ’_ 2 7’: ’_ bk :) ~ :) 4—” WEEP HOLE
SCALE 3/8"=1"—0 SCALE 3/8"=1—0 z | 5 = 99,89
Ll_I L Loy S N T
S O O —~ oS- T
! 41'-0" ! NN A s )
9” x 1/2" PLATE
24—’—0” ']7’_0” / TO BE SEC—HON
REMOVED —
SCALE 3/8"=1"—0
7_O 1;_0772’_0” I 2’_0” . 37_0 4’_6” 4’_6” 4’_6” 4’_6” 3’_0’7 I’2’_O” I 2’_0”,]’_0’7
| FLOOR EL. 648.47'
J : EL. 645.60 \\JL\]U\
- __—E‘:E— g _——= = — — = ]
L(l) (E ® [ ] ® ® ?0 ® [ ] @ ?ll C 4—‘ q; \
h | | I —
' ' ‘ ‘ ‘ [/ BRIDGE SEAT EL. 643.91
APPROX GROUND LINE —— Y \,/———i/j_/_Z/ |\ -
AT FACE OF ABUTMENT . — ——J [/ [
7

4” WEEP HOLES = D - Z
O sl o Wi

FLEVATION OF EAST ABUTMENT \ N ANA x
SCALE 3/8"=1'-0" 4
/ / W XXX [SSUED FOR _CONSTRUCTION
3 <J C <J APPROXIMATE £y "N RAX DATE DESCRIPTION
ISTING Lgpge e XXX USE ONLY PRINTS OF LATEST DATE

SHEET Do OF 20 SHEETS BRIDGE NO. C—5—95




3-8 1/4"
‘ STATE [FED. AID PROJ. NO.| G- [ SHEET | I0IA

¢ OF TRUSS YEAR SHEETS
= MASS. BR—XXX—XXX(XXX) 1997 XXX | XXX
T 207/ PROJECT FILE NO. XXXXXX
3”)(8”
| 1’_4 5/8” 1’_1 1/8” %
= 3/4”¢ BOLT
— 3"%12”| LACING Il
x H -~ 4"x4"x14 3/8"
| o — | — | o — | || a
| & [ F - = € OF BEARNGS | 1| ananoo" b
n | | | 1
© 6”x6" 6" x6"—T & OF BEARINGS i 1/2”¢ BOLTS
= |7 ST 5 I 4N k s |ul/ 4
(@] 2  — — - — -
x| >< +~ [ 5 - i 2 | [ ot | |
2 2 || || 2 2
o A o 24 x4” GIRT !l 1 11 47x4” GIRT 2
;‘ 4"x4” NAILING STRIP 376" ! \ !
_F s —_— B Bl Bl Bl Bl | 3"%8”
| ©0 / 4"x4” GIRT a2 - 7
“ o\ 1” MATCHED BOARDS
0 S Y EXISTING SECTION C—C
“' N EXISTING SECTION A—A
~ \\ C T SCALE 1"=1'—0"
[ B—B SIMILAR BUT OPPOSITE HAND
4"¥4” NAMLING STRIPS TO BE BLOCKED S SCALE 1"=1'—0"
IN BACK TO BRING INSIDE FACE OF | |
7/8” BOARDS 12 5/8” FROM ¢ OF BEARINGS D
AN
\X_4"x4” NAILING STRIP ,
1"x8” D.S. PINE FACIA > ' ™~ |
TOP CHORD .
: L =t %
2 ~ | Z |
D™ | et =
o 5 c—1—5 — <] 125/8 1” MATCHED BOARDS
lel 4 e ol ~— /080 A% 4"x4” NAILING STRIP X X | o /
L AN 7 5
) X 8\5 X1 2. 8, B /8 / \&2—3’3(8” O Vi » 2: I L4
Q O o) /; = ‘i 1 p
— 3 7 O ('\/ \
- e T £ B BLOCKING 47x4” ' \ ) )
| XY / - | 0 | 1”x2 1/2” BOARDS
%) ™ O ] 8/ Vv N — ,/ °
Q . ) M m - iz , 2”%6” FALSE RAFTER
RE X%\ N ol =_4 - 1”x6” BOARD < AL 3
= | AN QLQQ/ w | o 3” BLOCKS @3'-0” 0.C.
m ,—-> K 79; T L 29 2
L] : S| 12 5/8 14 3/8
%) Ry R
. o) § q) ng)( 2 3/4 S \1” o
(@]
iy ZJ S e > ><>o( SYMMETRICAL ABOUT -
m 5
L3 | 2 Q) - ¢ OF BRIDGE
Dl a - 47x4” N2 T=—3"x6 B B
P < N
R R EXISTING SECTION E—E  EXISTING SECTION D—D
ol B % SAME AS SHOWN IN TYPICAL CROSS SECTION L SCALE 1"=1'—0" SCALE 1"=1'—0"
~E ol S ol KIEL \\ ) EXCEPT AS SHOWN OTHERWISE z
O N T 2 O 6» Aj z\l EE
2 NS TN A >~ ALL RINGS IN THIS SHEET TO BE <
" SN o P » ” -
. =8 ~ O > | - 2 1/2” SPLIT RINGS — 3 1/2” 0.C. UNLESS .,
N I X% | SHOWN OTHERWISE. 1/2"¢ BOLTS :
= — | (@)
o 38 B o | N[ i \
R | » b
2 — e & 1 \“‘1\(\!/@/ >< Q —
n|S © < o 1” MATCHED BOARDS
% W & n )% / \\
I SN B 5 \
D_ - 3’; —
O O) ) )
%) 5 :j_—) j 473 A” +7<D, 215 ;I:
=2 =l | o A0 4”%4” NAILING STRIP 1
Z|= © 1] AND BLOCKING T 4"x6"
SEEl B = N T
x| » I
| L had A G BEARINGS
1o A SH7G oo
O / 4”)(6”
=18 N : g
O 17 ASPHALT PLANK W
09 - N
RTUINCE N 6" FLOOR | AT
‘ . |
O \O —
O s ”(3 N b\ ] 6”)(1 6” i -
) O3"x120 [\JO < _
2 “ﬁ' : ” ”
g 0> +8 8‘8 8J\r- BLOCK 10" 8"x12 g
ol 0 s e ite] fo) e | | 1/2"x6” LAG BOLTS —
. . I . - | |1
- - - - Aﬁ* . . | S L [ | .. / ” ” ’ »
st : : i IR I o — -
NX_ ¢ BOTTOM CHORD / TR S L A 1L % 2 BLOCKS 6"x18”x2'—5" (NQTCHED)
: ' ' ' A ' A OF CURB TO OUTSIDE OF BRIDGE-
TACKED TO SIDING
6”x4”. PITCH TO OUTSIDE OF BRIDGE

EXISTING HALF OUTSIDE ELEVATION OF PORTAL & END FRAMING — EXISTING HALF END ELEVATION “XISTING SIDEELEVATION

SCALE 1/2"=1'-0"

*

XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION

XXX USE ONLY PRINTS OF LATEST DATE

SHEET BT OF 20 SHEETS BRIDGE NO. C—=5-5




¢ AT TOP
CHORD

i

8—4"x6"GIRTS — SPLICED
——AT VERTICAL MEMBERS
SEE DETAIL A—A

3"x4” NAILING STRIP

8”x6”"—8" LG. BLOCK
AT EACH SPLICE
SEE DETAIL A—A

SEE DETAIL A—-A

SYMMETRICAL ABOUT ¢

REPLACE ROOFING

STATE

FISCAL | SHEET [ TOTAL
FED. AD PROJ. NO.| "VEAR | “NO. |SHEFTS

MASS.

BR—XXX=XXX(XXX) | 1997 | XXX | XXX

PROJECT FILE NO. XXXXXX

EXISTING HALF ELEVATION OF SIDE FRAMING

AND HOUSING

SCALE: 1/4"=1"-0"

2 — 1/2°¢ BOLTS

2 — 1/2"9 BOLTS

NUTS AND
WASHERS

2”

4@”

EXISTING SECTION B—8

NUTS AND \/ ,
WASHERS _ 15 /2 _—VERTICAL MEMBER
0
| —
> ‘ 4”x6” GIRT \
- L | 1 ///_ 1" TRIM
AV 7 —N
S i 2’2/2 kN
3 I
N tL:“‘*\~7-—9”x6“—8” LG. GIRT
- | gLt —72  SUPPORT
™~ | X I
Ah ‘
/‘
8

EXISTING DETAIL A=A OF

”

SCALE: 1"=1"-0"

SPLICE

SCALE: 1"=1"-0"

% 7\ _ _ _ 7,/ _ _ _ _ _ _ _ _ !I _ / _ — —
(. 7 AN YAV AN e
AN AR N/ NN A4 RN VAR VA AN
o | RN / m N L N NN A L
i N LS o NN S I N // % L
I N X/ l NS
il /XN /XN /XN ——s
| /NN NN NN L
o V4 NN n 2/ NN n 2/ NN M
o |24 R NN | A NN | 22 B N
'/ Ny / N4 / N
SRS e T e : ]
| Lo e 0 C3E 00 /

—— REPLACE ALL

SIDING

*

XXX

XXX

ISSUED FOR CONSTRUCTION

XXX

DATE

DESCRIPTION

USE ONLY PRINTS OF LATEST DATE

SHEET B2 OF 20 SHEETS BRIDGE NO. C—=5-5




— SPLIT RING
FISCAL | SHEET [ TOTAL
STATE |FED. AID PROJ. NO.| "YEAR | "NO. ISHEETS

MASS. | BR=XXX=XXX(XXX) | 1997 | XXX | XXX
PROJECT FILE NO. XXXXXX

/1 13/1687

4”

SPLIT RING INSTALLED
INTO ONE FACE 5 3_/4” 5 3/8”
|
?
/ AN A I R 11— R
" / — A —1— ] 1—
% i _ 1 1 _
WOODJ L GROOVE CUT WOODJ | | | |
INTO WOOD FOR - F :[* o :[* :I -
CONFICURATION WITH THE ST R I | | I
I | | I
o otowe  SPLIT RING DETAILS i ; =
CONNECTION. NOT TO SCALE \ : : /
_ | 1 _ | _ _
| _ . ]l 1 ]l _ _
- i ——= a D —
/\/ —6 x 18 /\/ /—6 x 18 - -
SISTER SISTER
Z / N N vA va
6 o 18 BLOCKING e
| | 4’—8” LONG BETWEEN. / - -
|
|
o AN A—\ L
// / \ ) //_‘\\
on l\\é/) N 6" |1 1/4 P e
’ '\\4 /) > ‘\\4 /) l// % | I
e 7 (S | B 2|2 | 8§ ||
// RN . N // é X = é x
--\(4)/_ ‘\/4)/ | 512" ” ; )
o~ N WIDE o
v 6 V1 . _
] 2 ] g CONNECTION DETAIL SIDE_ VIEW
[ 1 |\‘) 1 ] i‘_ \!xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxi}/ SCALE 1 1/2" = 1"-0" SCALE 1 1/2" = 1’0"
-
5 5/8"5 3/4”|5 3/4”|6 1/2” o
SPLIT RING
CONNECTION DETAIL SIDE VIEW ﬁ/
SCALE 1 1/2" = 1’=0" SCALE 1 1/2" = 1'=0" ~ i i
G__"""i"f"_"_() _
C [ i 7775
| :\
Ll
T BOLT
-
SETAIL SHEAR PLATE DETAIL
NOT TO SCALE
SPLIT RING DETAIL ¥
NOT TO SCALE
AXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION
XXX USE ONLY PRINTS OF LATEST DATE

SHEET BES OF 20 SHEETS BRIDGE NO. C—=5-5




REPLACE EXISTING
LAMINATED FLOOR DECK

REPLACE EXISTING BOTTOM
CHORD WITH GLUED LAMINATED
TIMBER MEMBERS FULL LENGTH

28,—0”

STATE [FED. AID PROJ. NO.| Ml [ S5 [ 01A
MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX

PROJECT FILE NO. XXXXXX

REPLACE EXISTING
FLOOR TRUSSES
WITH NEW
GLUED—LAMINATED
TIMBER BEAMS.
(TYPICAL)

ISSUED FOR CONSTRUCTION

DESCRIPTION

N/
N\
,] 5” ’—O” ’—O” ,]5” ,]8”
— T 7 :_: :_: T 7 :_: :_: A 77 :_: :_: TV 7 77 :_: :_: T 7 :_: :_: T 7 TV —
I Y < . W FARTETEEE A $ \ (1 Ty R 3 . ! ETEEE \ | . / T 3 \ U/ T ETEAN AN 3 | 1 =
=T [\ | ViU STETEEE A\ N QTRUSS\\ AV BT I W T WA w4 |\ Y/ ST |\ VAN |
"%_— \,A\\ - - - - — //\/\/ |',‘ !l \ \\ - - - - 7-7)'(——r' !l _\\ - - - AW |! ‘!1_ AV :O - - . 7 )(_ I! !T /\\ \\_ - - _,_/_7X T I! !I_ AN - - - 1 —/,X\/ - G — -
\ 7 f f » o on 7 7\ f f 717\ f f AYA 717\ f f 77\ f f 7
187 AN 5"x6” RAIING ™ ATy 67x87 WHEEL GUARD A AT N ‘-’/4/‘ e L —
5 Y / / ' ' Y _ / / ' ' v\ _ ;4 ' ' R 4 ;4 ' ' _ ' ' Y _ / / '
| 4"x8" LATERALS 3"'x8" LATERALS 3"°x8" LATERALS 4 3'x8" LATERALS 4"x8" LATERALS
0 ATk LATHRALS
N il N il N il N il N il |
v\ ! I: :I N I: :I W\ / I: II \ /1 I: :I \ \ I: :I \ /1
X \ N\ [/ 1l 1l \“6”x6” STRINGERSN 1 1 1 | \ [/ 1 1 1 \ L\ [/ X
v\ 71 | | | | N 7/ | | \ N7/ | | | v\ 71
v NN il 1 il 1 il il 1 il 1 2 7,7
6 [ /2"x7 1/2° WHITE OAK % 6 1/2"x7 1/2” WHITE OAK ~—
8"x12” FLOOR BEAM B AMINATED | FLOOR 8”><1/2”/ FLOOR BEAM—=
\\ \\ /| N /| \ o\ / \ N /| 8|
X \ N\ [/ \ N\ [/ A\ [/ \\ [/ =X
v\ /1 | v\ /1 o
5 %3 <
O ” Z |_ |_ m 1”
ol e I . Sl
®© < = = = =
- o = —¢ OF BRIDGE O H =
I M 2 AN/ AN/ A < 7 AN/ 2 2
o Vv, ¥i YRAZ Vv, (g ) \ ! Y7 O 2
A e = f— T O U e Xi—— - -
| = L /\/\ /\/\ [\ \ 2 /! | /\/\ /\/\ L |
R L O (@] O Ll
< L L <|r L L
i@r E; Q N > I
) H 9
/ I / v\ /o v\ / / v N v\ N h
V] // // \\ \\ // // \\ \\ I/ I/ \\ \\ liRR \ /I X\\ I/ // \\\\\\ |[>q
|
// \\ ] l // \\ ] l ] l ] ml // / \\ ] l /% \\
= i i e \ 7 -
X [/ A\ i X i X [/ \ N\ i X / i X [/ { \ A\ i X \ A\ X
[ [ | | | | /1 I | | / IB | | [ / N | | [ N
|8 H |8 H |8 H |8 H |8 H |
o —6"x8" WHEEL GUA i »% /
A 3"x6” RAILING—|
0 77 AW . . . . 7 A . AN P AW . . 7 7 AW . . 77 AW .
=T o e m ) "’/‘-’ @ TRUSS ~ ﬁ By wa [ v mrsmm v/ AN [ v |y e W S 4 ot
___%__ /‘X/ _ _ _ I VA I'_XII / _ \ L1 M AW _ _ _ \4( [V L _ _ _ (WY, Ly L il _ __\__\X_lI NI AV _ _ _ ! —X’\ _ il | _
/ ; AN | / — AT | | / ; At | —\ At | /\/ — AT | /\ ' A N
| ni | 3 2 NN T / . 1 A\ il T i . T FARY il T . 3 1\ il T / . 1 NV AN il Ty . % JARNN |
[ sV rd ) NI N : ) \ N ERILRHER YA D b ) \ T Y TA b ) NI AN : ) NN b ! \ Ny [=
= / vty NN IR AT VT Ty / N AR A, \ —
[N ] [N ] | ] [N ] [N ]
J\ )_ ” 7_ ” 7_ kil )_ ” )_ ” )_ 1 )_ ” 7_ kil ’_ ” b ” \/\
12 5/871\ 37_2” O O O O O O O O O O 37_2” /—_12 5/8”
BOTTOM DIMENSION 6 @ 15—4 = 92’-0"
SCALE 1/4"=1'-0" REMOVE EXISTING STRINGERS
*
XXX
XXX DATE
XXX

USE ONLY PRINTS OF LATEST DATE

SHEET F1

OF 20 SHEETS BRIDGE NO. C—5—95




FISCAL [ SHEETTTOTAL

STATE |FED. AID PROJ. NO.| "vaamt | PNE [oitas

MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX
PROJECT FILE NO. XXXXXX

8’_0”
2-6 18 i% 18 2'—6 SYMMETRICAL ABOUT € SPAN —
| 6x4x3/8 L. WELD TO : 1 nln - - - - - - 1l n - - - - - - 1l - - - - - - 1l -
127 B WITH 1/4 FILLET WELDS S N L L L
4 4 2 LG @ 6. illss = = B = = B = = B =
N - - \ - |
| Ju ¢ TRUSS
" " - —rrl - - i - 1 —)6"x8" TOP CHORD MAIN "TRUSSHT |~ — - 1 - - T
- T I/ /! \ I/
I L L L1 L1
R f i . ————30x3/8x31 1/2 STEEL PLATE 3/4”¢ BOLT 2—3x4x4'—6" ifjnn ] 7 1] N
L i i 4—4" SHEAR PLATES HEX. NUT —8-2 1/2" SPLIT RINGS , , ,
T 3/4"¢ BOLTS. FILL AS REQUIRED. TOP & BOTTOM 1/2"¢ BOLTS ' —4 x6" LATERALSY —4 x6" LATERALSY —4 x6" LATERALSY
- | - :
S Loo=E | T
1,67, 1N\ \ ,6” | | S | L L L N
/ il ,' 1 | 1 | 1 | 1 | % 2 2
i;i T\ 1t BTTF BITTR BITTR 6”x10” PURLIN
Ll Ll | .,
4x6 LATERAL. 4—4" SHEAR
PLATES. 3/4"¢ BOLTS
ELEVATION T T T & T
” LATERALS TO BE CONNECTED AT o
Pl AN 4 CENTER WITH 2 1/2" SPLIT RING T
m
1= X N \\5;( 3 (L 5 N 6”x10” RIDGE
Lol X
il ke HH == AV —— 2| ] ~ — -\ 2> (e == £
- SRS Er—HH] N === =M\ | ' \.¢ BRIDGE
3/8"R o = " " " o " nlE
6x4x3/8”L alls S 2 2 & 2 & A
/ <| 5 © o = FOR LATERAL RIDGE o = o =
“ x " CONNECTION SEE DETAIL "A” & " x L[|
- < 3 o || o N %0 O H|!|KF O O Al O o A ! O ||
i I‘I+ +I‘I |’\\ /| I\ //i I‘I I‘I i ) N :ﬁ' M © o © o © il
[ 1 N7 0 N7 - 2 2 2 B
= i D XK e <= L = °° = % - 21
L SN L N | [ et N 1 ; 1 ; 1 i p———
+ — + {Y Tk 1Tk 1Tk {6 x10” PURLIN
| T T T
4—3/4"¢ MACH. BOLTS m ] A A ¥
|
0 |- 1] 1] 1
TRUSS
2\' 4 I — // — 1. — _\ — — / ” ” I — //_ — |l — \\ — | /Q
D 16”x8” TOP CHORD MAIN\TRUSS
Nj — — —— ——
o 0 | n _ ] 2 _ ] n _ ] n
| m T
ELEVATION PLAN 3
~ 2'—0 13 /16" 2'—0 13 /16" 2'-0 13 /16"
—7 —2"x6” RAFTERS @ 2'-0" 0.C. \ —2"x6” RAFTERS @ 2'-0" 0.C. \ —2"x6” RAFTERS @ 2'-0" 0.C. \
gl ”I’ 4l & K R Il ’IL 4l K K N Il Il 4l K K R Il Il Il K ik "
7 3/16 2'-0 13/16 7 3/16% 2'—0 13/16 7 3/16% 2'—0 13/16 7 3/16% 2'—0 13/16
157_4” ,]57_4” ,]57_4”

EXISTING TOP CHORD BRACING DETAILS EXISTING HALF ROOF FRAMING PLAN (TO REMAIN)
(BOTTOM CHORD SIMILAR) SOALE 1/8"—1—0"

SCALE 1/2"=1'-0"

*

XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION

XXX USE ONLY PRINTS OF LATEST DATE

SHEET F2 OF 20 SHEETS BRIDGE NO. C—5-0°




ROOF STRUCTURE
TO REMAIN

" 6’
X Do

‘17/»

2—4"x6"x11”

27 SN
NN

ROOF STRUCTURE
TO REMAIN

STATE [FED. AID PROJ. NO.| Ml [ S5 [ 01A
MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX

PROJECT FILE NO. XXXXXX

///
/ .
@
%;S"L
|
,/ 6"x10” RIDGE
3/4"s BOLTS
|
©
- . 3-31/4 4
— _ ?\)R\/\\\\ -
- Q)’s\/:\O \:‘6 O_/_(_TZ . |
wg 0 748" _— (@) \"\— 6 x8CFILL
A( -
3] oL Q :
. @ \
: : NSt Ve | N
4 \Y —_—
T e N e N
N J/e\e | © >
5 NG \\X iy
x 2 3 __I\I—_’\’__ |
4 =+ + -
-NOTCH TO FIT ~ X[ [ O— _ _ N
5 DIAGONALS - <+ O O ﬁ
ZL SEE SHEET NO.4 S ] !
_ _ _ _ AN
X :
—éEE‘::é :—:J:Eﬁ-
. 2-7 1/2" | !
Q | |
N 4 !
o~ | ! = |
2
NS ,_> < |
] - |
- ! ! “{
— & 2 |X.,l"2 |
S | I EE 213
\ m @) X ) (]
@ z M=z R . |G wn 5 B
o n = [ 0 ©o|O < 1 o
< =l O ! ~N R EJ, x
o & ) ~ < Q Ly m
m Olx v 2] L = O O !
R s O wn - Q| X << o @]
00 0 |O < I @ [a)] A
S x| i 2 © n &Y o
™~ G 133 e 5 m = | |
Z ? E | ol % | He==Er==a=cl=dh § i.
© n ! 2 <C
= — M . o
| He==Er==s=ck==h -] ! <+ X g
o @ - R % o x|
[ | j | “I) X X1 g
- © [¢e)
5 > g 3 > =
il 9 < & | Q)
:_ x :X| (] \
® © © = |
4 o 8 1/4"1'—4 5/8" . |
L |
% | \ SEE SHEET R1 FOR
:f 8 1/4'1'-4 5/8" | 2o 12'_g" | BRIDGE RAIL DETAILS
% B ’I__“____ X k===t —|=== |
g q__ =—F=O== | F===F====
W T BRIDGE TO BE RAISED
> 2 |x ,_Eio ! | 12” TO THIS LEVEL
| X |
Q % § Ee A= —P— GLUED LAMINATED o
gero====f=—xcf- % X s I _[L]_' 2" ASPHALT TIMBER FLOOR | k )
<+ Q| @ A ! | ® o~
el 9 s A T = ( :
B i %@ 17 ASPHALT PLANK | @: H / | <
g== I=E=g=nr= —
N TR > t - = - - - = I - - = - - - =
& 3/8°N | ©f 2" FILL 3"x6” LAMINATED FLOOR — 60D NAILS 2'—0" 0.C. EACH PLANK—~_—— | < > I—
d::I:::j::«;: f 6”"x16—h_ _=Jf“ - V3/4”f BCiLTS\;{ Y/ N S o g "9x=== 2 § é
< Lo L&l ] ! X 1 X 6”x16 JX B X - 6"x16 1 N ;6 X16"| | D
L 1= T 1T N1 -\ VN~ -\ N T % o
2 © -&. = = — N |
g - ! ¢/f S/O 5T ] . {}oho 2;4 x1g LN 0o )
NI,) ¥ /() Z/é) 2T “3\ /?cb/\i ) . . :d- Q . g
- 4 N\ 2 T [a\] ~ p
e e A o [ “ e e
> . ~—q BOTTOM CHORDS ! \> T S | X i
r“’ ¥ 12 o Y 5 o i ol e ©
= < ’ , SR i
B “ < AN
3 «|> / |—>A L? // ~ o
:;‘_ o }a 373" 5/ > Or
| -
% 6, 3/4 U ‘:: o~
AOIOAT %% 2-4"x12" !
5 FO - - - — L — - — — — - -
Al Y44 ;j! )4 | A L o !_
2-0 7/8" 5-0 -6 -6 A3 <
M L
n [}
2'-0’ 5-0" 4—6 4-6
*
KXX ISSUED FOR CONSTRUCTION
PROPOSED BRIDGE CROSS SECTION A% DATE DESCRIPTION
XXX USE ONLY PRINTS OF LATEST DATE

SHEET FS OF 20 SHEETS BRIDGE NO. C—5-0°




» 6 1/2”

5”><11”_\

(2) 5°x19 1/4” - Azi:::;7 TOP CHORD N %% ©
TOP CHORD P o 0
0 N/ To)
)
00
~
2 L0 2
< 5 <
:
@
31/4"
(6) 3/4” DIA. BOLTS - 1/2”) “ "
évF{LI<T2AFr%>INéS o (5) 3747 DIA- BOLTS =
W/ (20) 4” DIA. DF TAIL e
DETAIL SPLIT RINGS L
O
b bhl GJ
12'=0 ~
D)
T
| EE::::::_:::::: <
1
gE————E=XfF=—=—=—o <C
O
T
|_
Ll
=
| =
%
! GLUED LAMINATED
— = ==g o ) TIMBER FLOOR )
C 1 ////————-2 ASPHALT |
|
|
B >
E%:::_:_:-:Z: T 3393 F I+ + ¥ === )/ %/
NN\
w0 | ©
x|
o | ©
o
“X
]
\\
/ O
NP /
47 DIA. SPLIT RINGS [{_
W/ 3/4” DIA. BOLTS o
AND OGEE WASHERS
2?_0?) 5?_0” 4)_6)7 4’—6”

REPLACEMENT FLOOR TRUSS

SCALE 1"=1"-0"

3 . (5) 3/4” DIA. BOLTS
61/2 W/ (20) 4" DIA.
SPLIT RINGS
DE TAIL
< :ﬁ— <
- GLULAM FLOOR = -
00
== o
Tl NG o
H A1 H A1 A
#:—E::{J:—::‘L];::H}% o @
P A RE NS
==
VERTICAL WEB
DIAGONAL
DIAGONAL — P WEB
WEB
N\
— SPLIT RING
4” DIA. HOT DIPPED
GALVANIZED (TYPICAL)
_I"I__ m _ il __r _ @
B = i == i R
B—a — | ©
A%Z—EZZ;LJE—::}UI::E}}%’ 2 =
P X2
__ﬁ/;j%gzﬁ“tflﬁj“ﬂ:%g' 015
m
OGEE
WASHERS 3” 5” 5” 5” 3”
SECTION THRU FLOOR TRUSS

STATE

FISCAL | SHEET [ TOTAL
FED. AD PROJ. NO.| "VEAR | “NO. |SHEFTS

MASS.

BR—XXX=XXX(XXX) | 1997 | XXX | XXX

PROJECT FILE NO. XXXXXX

PUNCH

5/16” DIA. 4 1/2” CLEAR (HOLD)
HOLES IN ) )
1/4” PLATE  1/4 1/4

_%§§____*2 /27
5 1/8” - 1
5 1/8” - 1
10 3/4”
i v5 1/8” 1
51/8”
—+—— 5-71/22 T T
5 1 /2" 16 1/2”
\
—+—‘ + 1/47)/8 1/2”
5 5/8”
> 5/8 1 ] PL 1"x8 1/2”
4 ////_x1’—3 5/8"
1” | ]
SIDE VIEW FRONT VIEW
*
XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION
XXX USE ONLY PRINTS OF LATEST DATE

SHEET F4 OF 20 SHEETS BRIDGE NO. C—5-0°




A.

B.

C.

GENERAL NOTES

1.

PROVIDE MATERIALS AND WORKMANSHIP IN ACCORDANCE WITH STANDARD
SPECIFICATIONS FOR HIGHWAYS AND BRIDGES PUBLISHED BY THE
COMMONWEALTH OF MASSACHUSETTS (1988).

NOTIFY ALL UTILITES COMPANIES PRIOR TO START OF WORK. DO NOT
DISTURB OR ENDANGER UTILITIES DURING CONSTRUCTION OPERATIONS.

THE SUBSTRUCTURE OF THE EXISTING BRIDGE INDICATED ON THE PLANS IS
FROM THE BEST INFORMATION AVAILABLE. SINCE THIS INFORMATION IS
SHOWN FOR THE CONVENIENCE OF THE CONTRACTOR, THE CONTRACTOR
SHALL HAVE NO CLAIM WHATSOEVER FOR ANY DELAYS OR ADDITIONAL COSTS
INCURRED BASED ON DIFFERENCES BETWEEN THE EXISTING BRIDGE
SUBSTRUCTURE SHOWN ON THE PLANS AND THE ACTUAL CONDITIONS AT

THE PROJECT SITE.

DESICGN

1.

2.

DESIGN SPECIFICATIONS — STANDARD SPECIFICATIONS FOR HIGHWAY BRIDGES
(15TH EDITION, 1992) (WITH INTERIMS THROUGH 1994) AND GUIDE
SPECIFICATIONS FOR THE DESIGN OF STRESS—LAMINATED WOOD DECKS (1991),
PUBLISHED BY THE AMERICAN ASSOCIATION OF STATE HIGHWAY AND
TRANSPORTATION OFFICIALS.

SUPERSTRUCTURE

1. LIVE LOAD
HS20—44 LOADING
NO IMPACT

2. DEAD LOADS
TIMBER BRIDGE WITH GLUED LAMINATED COMPONENTS
SOUTHERN PINE 50 PCF (UNIT WEIGHT)
DOUGLAS FIR 50 PCF (UNIT WEIGHT)

UNLESS NOTED, PLAN DIMENSIONS FOR SAWN LUMBER ARE NOMINAL
DIMENSIONS. DIMENSIONS FOR GLULAM TIMBER ARE ACTUAL DIMENSIONS.
FABRICATION DETAILS SHALL BE BASED ON ACTUAL DIMENSIONS.

GLUED LAMINATED TIMBER DESIGN CRITERIA

ALLOWABLE STRESSES (PSI)  (AITC 24F—E4) SOUTHERN PINE

BENDING STRESS (Fb) (PSI) 2400
SHEAR STRESS (Fv) (PSI) 200
COMP. PERP. TO THE GRAIN (Fc) (PSI) 650
MODULUS OF ELASTICITY (E) (10° PSI) 1.8

LONGITUDINAL PANEL SUPERSTRUCTURE

WHEEL LIVE LOAD DISTRIBUTION WIDTH FOR MOMENT AND

DEFLECTION = SEE AASHTO 3.25.3 FOR LIVE LOAD DISTRIBUTION FACTORS
SOUTHERN PINE

ALLOWABLE STRESSES (PSI)  (AITC COMB. 56)

BENDING STRESS (Fb) (PSI) (Y-Y) 2400
SHEAR STRESS (Fv) (PSI) 200
COMP. PERP. TO THE GRAIN (Fc) (PSI) 650
MODULUS OF ELASTICITY (E) (10° PSI) 1.7

BOTTOM CHORD MEMBERS

ALLOWABLE STRESSES (PSI) (AITC COMB. 50, S.0.G. = 14)
SOUTHERN PINE

BENDING STRESS (Fb) (PSI) (X—X) 2400
SHEAR STRESS (Fv) (PSI) 200
COMP. PERP. TO THE GRAIN (Fc) (PSI) 650
TENSION (Ft) (PSI) 1500
MODULUS OF ELASTICITY (E) (10° PSI) 1.9

GLUED LAMINATED TIMBER NOTES

1.

10.

1.

12.

13.

14.

LAMINATED TIMBER MATERIALS SHALL CONFORM TO ANSI/AITC A190.1—1992
"DESIGN STANDARD SPECIFICATIONS FOR STRUCTURAL GLUED LAMINATED
TIMBER OF SOFTWOOD SPECIES”™ AND ANSI/AITC A190.1 "STRUCTURAL GLUED
LAMINATED TIMBER.” USE SOUTHERN PINE PER SPIB FOR TIMBER GLUED
LAMINATED TIMBER DECK, FLOOR TRUSS, AND CHORD MATERIAL.

ADHESIVES SHALL CONFORM TO AITC A190.

FABRICATION AND CONNECTIONS SHALL CONFORM TO THE AITC TIMBER
CONSTRUCTION MANUAL AND THE 1991 EDITION OF THE NATIONAL DESIGN
SPECIFICATION.

ALL CONNECTIONS CONNECTING LAMINATED TIMBER MEMBERS TO EACH OTHER
AND TO SUPPORTS SHALL BE DETAILED AND FURNISHED BY THE GLUED
LAMINATED TIMBER SUPPLIER.

PROVIDE FACTORY—GLUED TIMBER UNITS PRODUCED BY AN AITC LICENSED FIRM
QUALIFIED TO ISSUE THE AITC "QUALITY INSPECTED" MARK.

PRESSURE TREAT LAMINATED TIMBER WHERE INDICATED IN ACCORDANCE
WITH AITC 109—90 "TREATING STANDARD FOR STRUCTURAL GLUED
LAMINATED TIMBER".

SUBMIT SHOP DRAWINGS SHOWING DETAILS FOR ALL GLUED LAMINATED
TIMBER CONSTRUCTION FOR APPROVAL TO THE ENGINEER PRIOR TO
FABRICATION.

THE EXTERIOR LAMINATIONS ALONG EACH DECK EDGE SHALL BE
SOUTHERN PINE COMB. NO. 48.

UNLESS NOTED, ALL LUMBER SHALL BE DRESSED (S4S) SOUTHERN

PINE. LUMBER 2 TO 4 IN. SHALL BE VISUALLY GRADED NO. 2 OR
BETTER. LUMBER 5 IN. OR GREATER IN THICKNESS SHALL BE VISUALLY
GRADED NO. 1 OR BETTER.

ALL GLULAM DECK LAMINATIONS SHALL BE CONTINUOUS BETWEEN
SUPPORTS WITH NO BUTT JOINTS.

UNLESS NOTED, ALL WOOD SHALL BE CUT, DRILLED, AND COMPLETELY
FABRICATED PRIOR TO PRESSURE TREATMENT WITH PRESERVATIVES.
THE MOISTURE CONTENT OF SAWN LUMBER PRIOR TO AND AFTER
TREATMENT SHALL NOT EXCEED 15% FOR LUMBER 2 TO 4 IN. THICK,
AND 19% FOR LUMBER THICKER THAN 4 IN. MOISTURE CONTENT OF
GLUED LAMINATED TIMBER SHALL NOT EXCEED 16%.

EACH MEMBER SHALL BE LEGIBLY MARKED WITH THE DESIGNATED MARK
NUMBER TO AID IN CONSTRUCTION.

ALL BRIDGE COMPONENTS MUST BE PROPERLY BRACED DURING
CONSTRUCTION TO RESIST ALL FORCES ENCOUNTERED.

E. H

1.

2.

F.ooP

1.

2.

10.

G.

—_

EAVY TIMBER CONSTRUCTION

SAWN LUMBER AND GLUED LAMINATED TIMBER SHALL COMPLY WITH THE
REQUIREMENTS OF AASHTO M168.

STRUCTURAL LUMBER SHALL BE ROUGH SAWN CONFORMING TO

NO. 1 DOUGLAS FIR LARCH GRADED IN ACCORDANCE WITH WCLIB

OR WWPA GRADING RULES.

FABRICATION AND CONNECTIONS SHALL CONFORM TO AITC TIMBER
DESIGN SPECIFICATIONS.

MATERIALS AND EXECUTION SHALL FOLLOW THE REQUIREMENTS OF

THE 1991 EDITION OF THE NATIONAL DESIGN SPECIFICATION FOR

WOOD CONSTRUCTION PUBLISHED BY THE NATIONAL FOREST

PRODUCTS ASSOCIATION.

ALL BOLTS AND KEEPER PINS SHALL HAVE WASHERS AT TIMBER
BEARING LOCATIONS. WASHERS SHALL BE CAST IRON OGEE

WASHERS AS DETAILED.

SOLID TIMBER SHALL BE DRIED TO A MOISTURE CONTENT OF 19% OR LESS.

RESERVATIVE TREATMENT

TREATED TIMBER SHALL CONFORM WITH MHD STANDARD SPECIFICATION
M9.05.1.
ALL SAWN LUMBER SHALL BE TREATED IN ACCORDANCE WITH THE
REQUIREMENTS OF AWPA STANDARD C14 WITH ONE OF THE FOLLOWING
PRESERVATIVES:

A. CREOSOTE CONFORMING TO AWPA STANDARD P1

B. PENTACHLROPHENOL CONFORMING TO AWPA STANDARD P8

IN HYDROCARBON SOLVENT, TYPE A, CONFORMING TO AWPA
STANDARD P9.

GLULAM SHALL BE TREATED TO THE ABOVE REQUIREMENTS WITH
CREOSOTE OR PENTACHLOROPHENOL.
MATERIAL TREATED WITH CREOSOTE OR PENTACHLOROPHENOL SHALL
BE FREE OF EXCESS PRESERVATIVE ON THE WOOD SURFACE. THE
TREATING PROCESS FOR THESE PRESERVATIVES SHALL INCLUDE AN
EXPANSIONS BATH, STEAMING AND/OR DRIPPING TO ENSURE THAT
PERSERVATIVE WILL NOT BLEED.
PRESERVATIVE FOR BRUSH ON AND DIP APPLICATIONS SHALL BE
OSMOSE CLEAR WOOD PRESERVATIVE, PRODUCT NUMBER 201,
CONTAINING ZINC NAPTHENATE OR APPROVED EQUAL. CONTACT
OSMOSE WOOD PRESERVING, INC., GRIFFEN, GA., (800) 522—-9663
OR APPROVED EQUAL.
CREOSOTE TREAT ALL LUMBER COMPONENTS IN CONTACT WITH CONCRETE IN
ACCORDANCE WITH AWPA STANDARD C14.
DO NOT FIELD CUT PRESSURE TREATED COMPONENTS UNLESS APPROVED BY
THE ENGINEER.
WHEN FIELD CUTTING, EMPLOY A TECHNICIAN CERTIFIED BY THE STATE IN THE
USE AND APPLICATION OF RESTRICTED—-USE PESTICIDES TO TREAT IN
ACCORDANCE WITH AWPA—M4, ALL LUMBER AND COMPONENTS WITH
CREOSOTE.
PRESERVATIVE TREATMENT SHALL BE INSPECTED AND CERTIFIED IN
ACCORDANCE WITH AWPA STANDARD M2.
WHEN FIELD FABRICATION OF WOOD IS REQUIRED OR IF WOOD IS
DAMAGED, ALL CUTS, BORE HOLES, AND DAMAGE SHALL BE
IMMEDIATELY FIELD TREATED WITH WOOD PRESERVATIVE IN ACCORDANCE
WITH AWPA STANDARD M4.

MISCELLANEOUS

SHINGLES SHALL BE EASTERN WHITE CEDAR. SEE SPECIFICATIONS.
SIDING SHALL BE NO. 1 HEART PINE SHIPLAPPED SIDING PLANED TO
A 7/8 INCH THICKNESS WITH THE HEART SIDE EXPOSED TO THE
WEATHER UNLESS OTHERWSE INDICATED.

NAILS FOR SIDING SHALL BE TYPE 316, STAINLESS STEEL, SMALL
FLAT HEAD, BLUNT DIAMOND POINT WOOD SIDING NAILS PRE-
PAINTED TO MATCH WOOD SIDING.

SHAKE AND SHINGLE NAILS SHALL BE TYPE 304 STAINLESS STEEL,
SLENDER SHANK, ANNULAR THREADED, 7/32 INCH DIAMETER FLAT
HEAD NAILS.

NON—-FERROUS STAINLESS STEEL NAILS SHALL BE PROVIDED BY SWAN
SECURE PRODUCTS, INC., BALTIMORE, MD., (410) 646—2800, FAX
(410) 646—2756 OR APPROVED EQUAL.

THE CONTRACTOR SHALL VERIFY ALL EXISTING SITE CONDITIONS
INDICATED ON THESE DRAWINGS. ANY VARIATION OF CONDITIONS
SHALL BE BROUGHT TO THE ATTENTION OF THE ENGINEER BEFORE
PROCEEDING WITH CONSTRUCTION.

GEOTEXTILE FABRIC SHOULD BE AN IMPREGNATED, NON—WOVEN FABRIC
THAT PROVIDES A WATERTIGHT MEMBRANE OVER THE DECK SURFACE.
APPLICATION PROCEDURES AND COMPATIBILITY OF THE FABRIC WITH
THE PRESERVATIVE TREATMENT SHALL BE VERIFIED WITH THE
MANUFACTURER PRIOR TO FABRIC PLACEMENT.

SEALER FOR WOOD END GRAIN IS TYPICALLY A COMMERCIAL
ROOFING CEMENT.

ALL WOOD AND METAL COMPONENTS SHALL BE HANDLED AND
STORED CAREFULLY SO AS NOT TO DAMAGE THE MATERIAL.

J STEEL FASTENERS AND HARDWARE

1.

PROVIDE M270, GRADE 36 (ASTM A 709, GRADE 36) GALVANIZED STEEL
HARDWARE, ASTM A307 GALVANIZED BOLTS, AND CAST IRON STEEL OR
MALLEABLE IRON WASHERS. SEE MHD STANDARD SPECIFICATIONS SECTION M8.
SPLIT RINGS SHALL BE MANUFACTURED FROM SAE 1010 HOT ROLLED
CARBON STEEL.
ACCORDING TO GRADE 32510 OF ASTM A47.

WASHERS SHALL BE PROVIDED BOLT AND LAG SCREW HEADS AND
UNDER NUTS THAT ARE IN CONTACT WITH WOOD. WASHERS MAY BE
OMITTED UNDER HEADS OF SPECIAL TIMBER BOLTS OR DOME—-HEAD
BOLTS WHEN THE SIZE AND STRENGTH OF THE HEAD IS SUFFICIENT TO
DEVELOP CONNECTION STRENGTH WITHOUT WOOD CRUSHING.

ALL STEEL COMPONENTS AND FASTENERS SHALL BE GALVANIZED IN
ACCORDANCE WITH AASHTO M111 OR AASHTO M232.

ALL NUTS FOR BOLTS AND STRESSING BARS SHALL BE OVERSIZED

OR RE-THREADED TO ENSURE PROPER FIT AFTER GALVANIZING.

BOLTS AND LAG SCREWS SHALL COMPLY WITH THE REQUIREMENTS OF
ANSI/ASME STANDARD B18.2.1—1981, GRADE 2.

DAMAGE TO GALVANIZED SURFACES SHALL BE REPAIRED WITH A COLD
GALVANIZING COMPOUND OR OTHER APPROVED COATING.

SHEAR PLATES SHALL BE MALLEABLE IRON MANUFACTURED

BRIDGE RAILS

1. THE BRIDGE RAIL SHOWN WAS SUCCESSFULLY CRASH TESTED TO THE
REQUIREMENTS FOR PERFORMANCE LEVEL 1 (PL—1), AS OUTLINED IN
THE 1989 AASHTO GUIDE SPECIFICATIONS FOR BRIDGE RAILINGS. IT

IS ADAPTABLE TO

GLUED LAMINATED TIMBER

DECKS WHICH ARE 8 IN. OR GREATER IN ACTUAL THICKNESS.

2. DIMENSIONS GIVEN FOR GLUED LAMINATED TIMBER RAILS ARE
ACTUAL DIMENSIONS. THE DEPTH OF THE GLULAM TIMBER RAIL
MAY BE INCREASED TO A MAXIMUM OF 10-3/4 IN. TO ALLOW FOR
OTHER STANDARD GLULAM SIZES. IN SUCH CASES, DETAIL
DIMENSIONS SHALL BE MODIFIED ACCORDINGLY.

S. DIMENSIONS FOR WOOD POSTS, CURBS, AND SCUPPERS ARE GIVEN
AS NOMINAL DIMENSIONS. ACTUAL DIMENSIONS MAY BE MAXIMUM

OF 1/2 INCH LESS THAN THE STATED NOMINAL DIMENSIONS
DEPENDING ON MATERIAL SURFACING. DIMENSIONS FOR SPACER
BLOCK DEPTH ARE ACTUAL DIMENSIONS.

4. THE STEEL DECK REINFORCING BARS SHOWN ON THE DRAWINGS
ARE 5/8 IN. DIAMETER ASTM A722 BARS. OTHER BAR MATERIALS
AND/OR DIAMETERS MAY BE USED PROVIDED THAT EACH BAR, IS
DESIGNED FOR A MAXIMUM APPLIED LOAD OF 8,000 LB. IF THE BAR
DIAMETER IS CHANGED, PLATE AND DECK HOLES MUST BE MODIFIED
ACCORDINGLY.

5. CURB AND RAIL SPLICES SHALL BE LOCATED SO THAT CURB AND
RAIL MEMBERS ARE CONTINUOUS OVER NOT LESS THAN 2 POSTS.
CURB SPLICES SHALL BE LOCATED A MINIMUM OF 1.5 POST
SPACINGS AWAY FROM RAIL SPLICES. IT IS RECOMMENDED THAT
GLULAM RAILS BE CONTINUOUS OVER THE BRIDGE LENGTH.

6. SAWN LUMBER AND GLUED LAMINATED TIMBER SHALL COMPLY
WITH THE REQUIREMENTS OF AASHTO M168 AND SHALL BE
PRESSURE TREATED WITH WOOD PRESERVATIVE IN ACCORDANCE
WITH AASHTO M133.

7. THE BRIDGE RAIL SHALL BE HORIZONTALLY LAMINATED GLUED
LAMINATED TIMBER; VISUALLY GRADED SOUTHERN PINE COMBINATION
VISUALLY GRADED SOUTHERN PINE NO. 48.

3. POSTS, CURBS, SCUPPERS, AND SPACER BLOCKS SHALL BE
VISUALLY GRADED NO. 1 SOUTHERN PINE OR VISUALLY GRADED
NO. 1 DOUGLAS FIR LARCH.

9. STEEL PLATES AND SHAPES SHALL COMPLY WITH THE
REQUIREMENTS OF ASTM A36.

10. BOLTS SHALL COMPLY WITH THE REQUIREMENTS ASTM A307,
GRADE 2 AND SHALL BE DOME HEAD TIMBER BOLTS.
BOLTS ON TRAFFIC FACE OF RAIL SHALL BE DOME HEAD.

11. SPLIT RINGS SHALL BE MANUFACTURED FROM SAE 1010 HOT
ROLLED CARBON STEEL. SHEAR PLATES SHALL BE MALLEABLE IRON
MANUFACTURED ACCORDING TO ASTM A47, GRADE 32510.

12. ALL STEEL COMPONENTS AND FASTENERS SHALL BE GALVANIZED IN
ACCORDANCE WITH ASSHTO M111 OR AASHTO M232 OR SHALL
OTHERWISE BE PROVIDED WITH ADEQUATE CORROSION

PROTECTION.  GALVANIZING OF HIGH—STRENGTH STEEL BARS SHALL
FOLLOW THE RECOMMENDATIONS OF THE BAR MANUFACTURER SO

AS NOT TO ADVERSELY AFFECT THE MECHANICAL PROPERTIES OF

THE STEEL. GALVANIZE STEEL COMPONENTS AFTER WELDING.

13. TO THE EXTENT POSSIBLE, ALL WOOD SHALL BE CUT, DRILLED, AND
COMPLETELY FABRICATED PRIOR TO PRESSURE TREATMENT WITH
PRESERVATIVES.  WHEN FIELD FABRICATION OF WOOD IS REQUIRED

OR IF WOOD IS DAMAGED, ALL CUTS, BORE HOLES, AND DAMAGE

SHALL BE IMMEDIATELY FIELD TREATED WITH WOOD PRESERVATIVE

IN ACCORDANCE WITH ASSHTO M133.

FISCAL
FED. AID PROJ. NO.| i

BR—XXX=XXX(XXX) | 1997
PROJECT FILE NO. XXXXXX

TOTAL
SHEETS

XXX

STATE
MASS.

SHEET
NO.

XXX

4” WEEP HOLES

\
SEE S1 FOR /

APPROACH SLAB.

(i_ OF TRUSS BEARINGS

T

92'—0" C. TO C. OF BEARINGS &

L ,,
AT

BATTER

i/ §
)

—F—+

=)
—

—a— 0

|
|
A =

¢ OF CONSTRUCTION AND ¢ OF BRIDGE" P N \

;— 4” WEEP HOLES

49'—
© © [

N 3717°40" w
__— OF TRUSS

T

PLAN OF ABUTMENT A o

g
N
e
w T A SEE S1 FOR
~

~ APPROACH SLAB.

SCALE 1"=100’

LOCATION SKETCH

14. UNLESS NOTED, MALLEABLE IRON WASHERS SHALL BE PROVIDED
UNDER BOLT HEADS AND UNDER NUTS THAT ARE IN CONTACT WITH

TOTAL BILL OF MATERIAL

WOOD. WASHERS MAY BE OMITTED UNDER HEADS OF DOME—HEAD
TIMBER BOLTS WHEN THE SIZE AND STRENGTH OF THE HEAD IS
SUFFICIENT TO DEVELOP CONNECTION STRENGTH WITHOUT WOOD
CRUSHING.

MOBILIZATION
(STRUCTURE)

CLASS "A”
CONCRETE

REINFORCING
STEEL

EPOXY
COATED

STEEL

REINFORCING

HARDWARE

GLUED
LAMINATED
TIMBER

EXPANSION
JOINT
SEAL

LUMP SUM

CU. YDS.

LBS.

LBS.

LBS.

FB LINEAR FT.

SUPERSTRUCTURE

LS

5956

56021

END BENT 1

13.8

1232

847

24

END BENT 2

13.8

1232

847

24

TOTAL

LUMP SUM

27.6

2464

1694

5956

56021 48

DAVID C.
FISCHETTI

No. 33113

Q

ISSUED FOR CONSTRUCTION

DCF ENGINEERING
CARY, NC

MASS

BISSELL BRIDGE REHABILITATION

TOWN OF CHARLEMONT

STATE ROUTE BA
OVER MILL BROOK

THE COMMONWEALTH OF MASSACHUSETTS
MASSACHUSETTS HIGHWAY DEPARTMENT
10 PARK PLAZA BOSTON, MASS

BRIDGE ENGINEER CHIEF ENGINEER

SHEET G

OF 20

SHEETS BRIDGE NO. C—5-—95




GENERAL NOTES

TRUSSES TO BE PLACED AND CORRECTLY ALIGNED
BEFORE TRANSVERSE LUMBER IS PLACED.

NO GIRT SIDING OR ROOFING TO BE PLACED UNITIL

FLOOR BEAMS AND LATERAL BRACING IS COMPLETELY
FASTENED.

BOLTS ARE TO Bk PLACED WHEREVER POSSIBLE SO

THAT NUTS ARE EXPOSED FOR TIGHTENING.

ALL BOLTS TO HAVE STANDARD HEX NUTS. WASHERS
ARE TO BE USED WHEREVER BOLT HEAD OR NUT WOULD
OTHERWISE BE IN CONTACT WITH WOOD.

BREAKS IN RINGS ARE TO PLACED TANGENT TO DIRECTION
OF LOAD.

TRUSSES ARE TO BE CAMBERED TO THE EXTENT THETHAT
BRIDGE, UNDER FULL DEAD LOAD, WILL NOT BE BELOW
THE PROFILE GRADE.

SYMMETRICAL ABOUT Q)
|
D.L.=—29.5 K. D.L.=-76.6 D.L.=—100.0
Ug LL=—-12.6 U LL=-31.6 U, L.L.=—40.5 Us
TOTAL=—42.1K. TOTAL=—-108.2K. TOTAL=—-140.5K.
o : o) :
A2A [ (R o ? o &
™ Ay /\'\ . (\//\ VC(O . O N /\'\ .
X 7/ o N 7 7 o~ 7 oI~
0 N ~ 177 Z e ~ LD ™o ~ 77 ™o
N oo N AN NZAMEEIN N AN
e Q Lilj \/&OO -I'I_ i _I'I_ \/&OO -I'I_ T _I'I_ \/&OO -I|I_ +\_I|I_
I al ' I ' al
Sjg /b((('\\ Sj.ﬁf’ /\('(('\\_'—':" N \\_!—5:‘,
N OoN\ O = (O O =
O ZONVI O EONVREN© EONVIO e
= AR AN N ZAV AR
SRS N2 e N7
X N X\ % x &P
= % 2
D.L.=+29.5 v% D.L.=76.6 :%_ D.L.=100.0 U%
LL=+12.6 - L.L.=31.6 : L.L.=40.5 ’
Lo TOTAL=42.1K. L, TOTAL=108.2K. L, TOTAL=140.5K. |L;
3 SPACES @ 15'—4" = 46'=0”

DESIGN STRESSES

GENERAL NOTES STATE [FED. AID PROJ. NO.| TEGA- | SEET [JOTAL
MASS. BR—XXX—XXX(XXX) 19XX XXX XXX
PROJECT FILE NO. XXXXXX

FOUNDATIONS:

MAY BE ALTERED IF NECESSARY TO SUIT CONDITIONS OF CONSTRUCTION.

DESIGN:

ACCORDING TO SPECIFICATIONS OF AMERICAN ASSOCIATION OF STATE
HIGHWAY OFFICIALS (1949 ED.) FOR H—15—44 LOADING.

BENCH MARK:

B.M.#1 STA. 9+ 20 30’ RT. SPIKE, BACK 9”7 LEANING W.BIR.EL. 650.00
ASSUMED DATUM.

ESTIMATED QUANTITIES
( NOT GUARANTEED )

BRIDGE EXCAVATION  _ _ _ _ _ _ _ _ 330 CY. YDS.
CLASS "B” ROCK EXCAVATION __ __ __ __ __ __ 20 CY. YDS.
CLASS "B” CEM. CONC. MASONRY_ _ __ __ __ 135 CU. YDS.
STEEL REINF. FOR STRUCTURES __ 1300 POUNDS
STRUCTURAL STEEL - __ 3650 POUNDS
lUMBER » 30 M.F.T. B.M.
ASPHALT PLANK . _ 2240 SQ. FT.
WORK ON WATER PIPE - T LUMP SUM
CEDAR SHINGLES o T LUMP SUM
TREATMENT OF WOOD - . . — 1 LUMP SUM

*

XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION
XXX USE ONLY PRINTS OF LATEST DATE

SHEET M1 OF XX SHEETS BRIDGE NO. C—5-5 (XXX) (*)




SHEETS
XXX

NO.
XXX

FISCAL | SHEET [ TOTAL

YEAR
19XX

PROJECT FILE NO. XXXXXX

STATE |FED. AID PROJ. NO.
MASS. | BR=XXX—XXX(XXX)

MASS
CHIEF ENGINEER

OVER MILL BROOK
THE COMMONWEALTH OF MASSACHUSETTS

MASSACHUSETTS HIGHWAY DEPARTMENT
10 PARK PLAZA BOSTON,

BRIDGE ENGINEER

Z =
. 8 © &
4
8 33 z MO
3¢ 5 S
z oY 5 =
F 20 -) 1w
H < o |L
LN 0 = m
L a2 %) < @<
:OSA pd
YaZ g O T <{|®
© :Z O © L]
<o N H_|_|_
a0 % Y
. X O ) C_|
@2 T Lo -
N L] O
L™ o o O L
i I D Y
O O O ) O
zZ =z Z z % (D
%) v Lo
) 2 =
Q —
o o Qv
Zl o Lo
Ol O | —
H <<— )
Ol o
W o O
gl &% an
q Z.. O
A o ey A
& 3 2
2 gl 20 al
Z o)
o .lm
a
= 2
)
5

DCF ENGINEERING
CARY, NC

REPLACE BOTTOM

¢ OF BRIDGE
7
)
i

SHEET T1 OF XX SHEETS BRIDGE NO. C—5—5 (XXX)

Y.

»

2" FILL
OLTS

'

=7
DIA.

X2

/4

x18
3

)

2

I 11]11] | N—————— mVu -
s 4 — V/ H T MHH .\.\.\..\.\MHW
) e ——— . .vro V/IIIIIIIN”__H_ HO” P - --S=-—~———-——-3—9
o va/ o -1 /// o
| 2N

_|_| ———— g% n,,"v,2 ts g JWN@:@W 1

- T T T 1T _’ [~ ¢ ¢ |||||||||||I|||\|/I = AN I . 1 -
_ — S © S n/_v.,o_ //@ @\ | |

S )ﬁé
Br=F=========3=d& — %Y A A = o R = - e s s
B s e ——r—— i —_——— - - / U B Z |{l“||
Br=fp=========g=d& = i e s 4 / CB \ |I|.III|III%_" L = uHHHHMHHHHH .Ian-
“ : ~ =< - —
1z | 2] M~
. 7y AN q, o) e \ S
2 N R \ W =
| _ VS O\ A o5 e 5
™~ O@ Ve N N mD 4 ! a mm
“X a%\\_\ 3 - oJm ="
! 2~ fee) \ | FO= o<
@ ! O < ] /m o~
B e ww <2z <+| = DD
Jx < . (%2
o — S —— P 205 gl | €
o A LI < 0l 18 =
|||||| ) [ O ] —| S o=
2 I =
N my 7o}
| . ™ %= | P2
/ | —— AIH. [aa]
S
/ || 22
N

A

\
X
I}
I: ,
/
T ﬁ |
Jm,
1O/
i
]
j
/I
l
|
T
’ 4”
2’_0” 2’

7%

7

3x8 LATERAL

BRACING

Y e

Y e

1’_0”

" FILL

142

)

"x18"
Y5 i

2
4

<
—ac
UT'._ Q
_ » \ ' 7 V | <. MM P>
™ ] o b e MNNGE ~= EE
_ \\ — "o / - — o
/ I~ J\\ % Ve .vb (X p) xXO
' | XN \T X,
mHHHHWHHHHHHHuHuWu\A@ﬂ BN PR I \\ V\\Q mv\ A { |I|.III|III+“__H_ === HHHHH.IA.W
I ——— — T ~ v\b+ NP _ m_u-“\dk%vh.-umu
F—p—————————o-- > \\/\\ 7 f————— E-F-————~=——o—-
—4 NE = O & NN Bs "
| K 7o) 7N %N B
_ o - o @9 == ( ’ BRSIS — D
 EEEEEmE oeess —————— & L 5 \@ﬁ ........... R e =EEE
SRR A oo = Y ) R 7
2 |~ \VA/ N \\\ / s - A/ - S - " |
He=f=========1 HHWH_LM/_ m IW.HHHH.WI \\/\\/\\ \\ -.w\llTllllllmnH D) mMW m/IHHH/H/H,H/HHu HHWH_LM/_
mm.mmmmmmm_wL% I == e RN = y . i e e Y
=41 ; ~ W N W \ . \ S e i il - /gl T
RRe T % DD N A< . o L / =
- - I a & % S ST N\ A s e = O =
-t - ~ O SISXS «Voav\\ . N L 2 7 ~ 20
— — N -————- . Q o (7] ~
o By o af = SIS Yot Y% o \ = = <= »
To-at 1o-al DS Sy =S S : © 5<
- B +i-f- L SISIS) € < . s — S 2
~ e = m_ ()] v a (75} T < Z
Br=fp=========3=d& e ] & o 1} Lol o L ) —— a5
) I — T S v —7<8 2 SRR 2 w0 <
Br=fpz=====ooo3=S = ) TF-IEDD waz R o ﬂ 2) 2 @ S
2l O - C__ " = ~< [
al z/1 113 235 - AN X B 5o
L © - 4 N > " o | <8 =2
— ”ﬂ_ /A.M\hu\.r. ’ N m < .MM./ =T e .
© Lud 2 _ —~— s < CE (o)
= d | S >4 N o T/, %5 5 =
- - 2 - N ya N —~~ (@] —% <
ol L o ~ & 52 PINIEN S ol \ | =& i
) N Ol D~ VNN M T \| &= &2
_/ .’,A. N H V\ VAV%W\\ nV\// ] m ".mxu -]
mMHHHHHHHHHHu HHWH_Lq _H m IH.HH_HH.HI \\ VVQQGV\_\ / 4 H.HHHI._“.__.._ — y 2| -
Ml S —— M — 1 —, 282y NEANY M 3 o
T —% | 2. T v DN B <|2 1 P
i 0 1] x| 3 x| - - RN ZAN N Ll & ©
o e S I ek @O =’ 9 R N
I B I R X—T+ TN DI%9 \V/u@wxuu/
[+ 1 [l - =
AT A ) 3N PR
< PN /\\\ . Z N |
Br=fF=========3 Huwu\%z IW.H HH.WI / YV\\\\ \ A M.H Hlmﬂu g
||||||||||||||| R R — \\/ 4 1 ] 9
Br=f=========g=d& e s / mw \ H.HI_HIAH_M_HH g = S
< A . o< g \ 2 [~
/| | N A & e =
i , Vo \ T /| s
% N A * = yd ! L2
™~ rm;&/\ N N \«U/ . (] \ 7, 3}
| V5“7 N Ay = e <&
RN KN X \ _ = =
© 5% 5 o S 2 oF
| 72 2N 3 =
— N
2 \v\ W o
> 00

/

15'—-4
x18
3

-
1ol
TT TT
IR
(IR
IR
(IR
(IR
IR
(IR
1ol
H
HH
T
111
1t
H
MR R
2 3/4" 2 3/4
N
'\/\ "
AL
9 <z
Q\%%éff
1
/ \
// \\
2" ‘-7 1/2
/—Z4) i"zolAé
1/2" DIA, SPLIT RINGS
DIA. BOLTS
4x8 FILL CUT
TO FIT LATERAL

72

NS
|5
%
—

)

—~

o ——— = = — 1

/
=
3
L
L
]
V@ ‘
Q\Z\
o
(6
N
J
i
4
o
16

HALF PLAN OF REHABILITATED BOTTOM CHORD

SCALE 3/8"

—2-6" X 18" X 1'-5 1/2" FILLS

T T ol \ f s
4x8 LATERAL
47 ” BRACING 5 7 P
3’_2” /2%# 2’_0” 2’

|||||| y- 38 o
||||||||||||||| B v e ~— ( s
Fof=========3°F S L B R \\ £ NW\ //\ v I ,_,
F-fF-——————=—=—=—3=7 —t— === N pS 7 X N (e8]
: w\% e w J AN %o Q | a
(@) s s N / SN |
- — ,_ { To) S S o~ ] —

—— = —H Ea X ..n/"v?_ M@I@l =< ( B HAll/l N ,_I T
o i W@w@ b Z - - - N—9p1 x .9 — — - 006 / i - - -0
B R L oo =< NN N5 o

== N N




SHEETS
XXX

NO.
XXX

FISCAL | SHEET [ TOTAL

YEAR
1997

PROJECT FILE NO. XXXXXX

STATE |FED. AID PROJ. NO.
MASS. | BR=XXX—XXX(XXX)

PANEL ANCHORAGE

LAG SCREW —
SEE FLOOR
DETAIL.

ISSUED FOR CONSTRUCTION
DESCRIPTION

USE ONLY PRINTS OF LATEST DATE
OF 20 SHEETS BRIDGE NO. C—5—95

DATE

REPLACE EXISTING BOTTOM
CHORD WITH GLUED LAMINATED
TIMBER MEMBERS FULL LENGTH

LAMINATED FLOOR DECK

REPLACE EXISTING

1/2”:1’_0”

XXX

XXX

XXX
SHEET NI

SCALE

LONGITUDINAL GLULAM

DECK PANELS

PLAN VIEW

\/\

: e
| Lt |
_ _
|
| =
L
|| 1
I
| @) C
L] <C
|
| =
I L
| >
(. = A
Lel <
- R
X &) o) _ e
S Zy EO | | _ |
L < _
- 29 0 ﬂ L
= = =20 - - T - - \
I = HEReTxuw A\ Lo
= Ll Ll = 1=0O @)
. m O Il <5 | A_M
2 =z r _j |
N SE_Qua .
S fToE50 o AR
O LI 1= J=1n I
N~ 1 ro=0F<Z | |
X L | 1
N L | (0
AN
— < A A
© MM u.g e O
H nn/_ W O
© _ | ~ _ ~ «S
T = |
T
o) | |
(e 4 SONI¥Y3IF NOISNVIX3 40 D D i
. _ _ ~
N |
i)
SEBLii ININLNGY, 40 Ipv4— | ]
S L-PERD -
) _A4A=3rr ) ;
WY T T~~4d | —— 1 el BN I T m/
7 —E 9
) o=zl
< = ,JL
S ¥ Ox v o W x =z
W W n kL <29
N n Q22T Lo EE
o < V30 =0 <
= 2 o o’'% Fu,g
S <x> 2x3<Z
< = L — Oy, —“nEH
a - . = )
N | < = 2" <?
TN £ ZuWS BQzC
<~ > OT <
o g Sf= 25Es O
"G x o ~FfFo Jalx <C
ANZ b No=z Woxo
OO O mMm=< CLoonm
10 v R
wn = <<
; g3t O
) QT <
]
=z e = O H
o o=0
0 O
&) N
Z
T
5 <C
<
Ll
> Ny L] 1 )
S S il 7 L
]
% | e
/_ ’ﬂu
R
\\\\\ /“ —
> S o |
) C n_u .
crrragqrr - r - — 1 -~ k- --d-c--o---p-o---o-o-o-d-o-d T 1 AR edd e - ”
o~
50 s s S ) A NS s S 1130 O |w
L e e e N === o L]
|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| o
(0 s A B e e S e I P | T 2 a B s
SwpEi T N Hou e e %)
< ! ! ! | - S <ZZ 2 na
S~ < Plig Pl T ¥ L n x
TF<I- i —T=1 < pd @)
L ~ ~ (@] — - i o D >}
~K=~_ S == <=m O O
" /h/////// I \\\\\\\\\\
= RSN st
< S~~~ s e
//_ i ——f——————— = /L{//W\\{r\ |||||||||||||||||||||||
— >< ><
~ [T~ - B G S SO I Rt =
|- _ == T~ R
© L-=== <>~ 4 AT o A
X _=TETTY TSI ™
\\\\\ ////// - 9
o [+07C ] \\/\K\\\ © B RSSO = af
\\\\\\\\\ /l://lll/
| 1<t o o %
HHHE + AYMAVOY .0— %< ————1-———4-+Ff 4 = DI
o - - - -1 - -~ V- -—-—-—-——-—-—-—d---—-—-—-—f--—-—-—-—-—d--—d- T 1A - ®
S | s R i S g Ao (g s e 310 2 L]
1 ry
arrry4|rr-r——-——-4- -~ ------\»\--------\|-----\ ---°rr—-—-—- -~~~ "“"q9"—"— " " “““I'“———71— 11110 o pre L N
(0 s A B e e e e e I P | T zZl (v z 2
Lo o~ 7 A=
Sesey & T 2l O e
Bl = R N P =z S N
S L % TFEA = O I5n <O
N & =1 2 : 224 50 L
e - ~ L —— - | - R —
N S s = s |9 T9Z %2 —
~o >~ - O - o /E
RN R ! =" ol Lo T aff T (N
% ~K>~o | e o R W m X
>4 _ = W ~ OF 6 ¢
e 4 = S S s Souf R I N - /v @
= 4 - ] —_— ~ - - - - ] (]
: T HE \ g
© == [ ~JI>4o n o™
< == S \o s !
- - ~ ~ A
L= SN N ) O
™ T-4==""] R ] ™ L — |
] S vV = — |~
3 = ] = e
< ><TH— S O |w
= 41 = o J/¢ 8 oL _
{1 N O ISR ol s oo et i pumsfunspunpupen buubusus JUPRRPRNUNNPHNDY MURNPRRURRN U | I O 1 ,%_ << < Lo %
arrer'Y4qgr-r_—_--41- - - - - -~ -~ [ ______1-____ """ ‘"['"""‘""""J-""""—”“““TI—_——71—-71 110 == (N
L e e e e i s === D
|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| o
A i e R B R - B U T A N I
I e N @
ol Pkt
LT ~ddrr 0 1t 1 | il 1> I ) "
///_////,// \\\\\\\\_\\\ © z
I/Il// \\\‘\\\ N s =
A na ~Io4o == | — Cm Rm
\P//// ~ == < Hm EW
~ < - - [ xr
| S =T + © < fu Y
0 o SRS~ P // _Dlum OO m
= S Tz~ st Z =2
T I - S B SN M~ o N S / y =3
>< ><
n | ._Alm ||||| W T T T T T T T i St SN I B Bty w0 | <
7 o == N 2 .
- - S~ ~
! | \6\\\\\\ //////// ! | D
] i i NI~ - <
™ T1=- ~3Ir~T M 19 |
e 2 TS~ ©
|- — L, . =~ = | |
2 | |
<7 | [><— o ||
L n_U V1_|’ _
{10 N DAY sopfieyfigl plonglinplungtuglonylonglimplin funglonglimplnpionylunylmpligl nyleniongliglploionyiumptiy hugteiony INUUNDENNNDHIDH IOUNUNNSNNPE DN | Y BN I O 1 -
80 s s it e COCTPCICCIICIPCCIICICITCCOTOr 1p o ]
(5 I O A IS I ! I R N | N N e Z
[ oy iy R === S S G | a = _ _ _
= N~ 2 kS
Bk P ©
S 1 e N L ~ | ]|
~RE - _JEEAT -
Tl s o N
A~ ' ///I// P e 2% L <
\\ TSIzl e V1_+ | \\
2 e Y Pl gl o | |
< ~I>—_ P = f
i S 1, 1
IIIIIIIIIIIIIIIIIIIIII = nm —d r—-—_-——_—————nTn—n—n——-n-—-—-n—--r—_ "1
=S ) O -~ O O I Y ~ 11
1 =1~ It T —
X -t e i < Bl
Y R S : ]
K- -+ _+=="=" P~ A N ©
P e = ~3I={_ N
=1 R S A _ _ _
<] I 0 Ol
- Fr ININLNEY 40 FOVi~ 2
o~ A
K _ | | 2 1_|. _
(@] . [e) _ _/
R M = T T
N SONIYYIE d3Xi4d 40 .\(_u\// © +
2 : L A .
A —] _ - _ —] 4
ol | | | $ : |
Y — o y |
= S 00
00 N ]
2 ¥ & g Y
= ~ 1 || |
o | 1]

1/2”:,]’_0”

SIIFFENER BEAM ATTACHMENT De TAIL

SCALE

«0—.8¢

8"x12"| FLOOR BEAM

STIFFENER BEAM 7

VARIES TO —
CLEAR CURB
ATTACHMENT
BOLTS




PROFILE

HOR. SCALE:
VER. SCALE:

/|77:
/I,,:

4_07_077
8’_0”

1.5 STORY
WOOD WOO0D
BARN
COOP
Y, o — == em_ T~
4 ~— DRWE — = 2EM —
S //I/l\l\\ . <@ ) (P}lé\»/Dﬂ' _________ > ﬂ-/ \>\/>.—//
\\I\;VJ /?OO /GW — 19
— @C%Q—G—— _ZJ ‘‘‘‘‘ - — ']8 —— . __
N\ T T O ——
“‘ s ” W i -
/\ +27.78 O N 4—04-30 N ——
6 , ~WOOD POSTS . = 9
Q 3'+ LEDGE &=
SN » 7" PINES +¢9
NS §\ ROCKFILL 665 RS
VE 6 § 8 10
iy , 14" W.B
= L#7 SINGLE LOG G.R.
Se . 0 Pl =1/2" U
B R e =it
1 ‘zll 13 BL OF SURVEY —-\\ 1 4 APPROX.LOC. 207 C.I. WATER MAIN
% _ NO0-00-00" __ _ = - - — — — ——
- (ASSUMED BEARING) =1 I=IL T~
3'x3’ STONE =1L LEDGE LEDGE . ~N
SLAB LEDGE 26" OAK L
~ ~ -
~ ~
-
~ AN
N AN
N AN
PLAN A
SCALE: 17= 40 -0~
COVERED TIMBER BRIDGE
- + 0.40% 7
\
/ e
- % v
/
\ E -
—~ = .
S \ [ |2 %
o © ©
S \ / o ,/
(e}
2 N_ S 5
! &
o
8|4 - L
< < 00 — o n — ~3 N) N ~— M) M n
0| | o M . N 0 Q A oo 2] € ol g M| - <, < N ™~
M| (R M < o} © ~ o0 o [V I9 v ~l €@ o|om o|lom o e} ~ ©
< | |2 < < < < < < < B9 38 ™ ] e 0 (< 0| < < < < <
O] |o © [€0) © [€0) © (€] Q© |©o|o| oy © ©| © O |© [Ce R (0] © [€0) [€0) ©
BASE 610
12 +04 13 14 +75 15+05 +18 +32 16 +10+18 +25 17 18 19
+09.5 +22 +21

STATE [FED. AID PROJ. NO.| - | S5 [ 01A
MASS. | BR-XXX-XXX(XXX) | 19XX | XXX | XXX

PROJECT FILE NO. XXXXXX

*

XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION

XXX USE ONLY PRINTS OF LATEST DATE

SHEET P1 OF XX SHEETS BRIDGE NO. C—=5-5 (XXX) (*)




~—C OF BEARING

-
_

-
h—

= «—Q¢ OF| TRUSS BEARINGS

\f\\\\\\ Il —1
APPROX. BOT BaTreR. = l 8 g ) ) ) ) ) ) ) G OF TRuss ) N
) '\\‘ /\ C =
\& :o|
4” WEEP HOLES E . | o
0 B G
™| 90
\lr— 90 ) ”»
! * 92'~0” C. TO C. OF BEARINGS -
o
_ _ _ _ _ _ _ _ _ _ _ _ _ |
G OF CONSTRUCTION AND G OF BRIDGE— 2

A~ VY Y
12)_0”

) O o e R e T
4
41-0"7 |t

A N 37017’40” W
/@_ OF TRUSS

L” ~
(.
e

PLAN Or ABUIMENT

SCALE 1/8"=1"-0"

FISCAL | SHEET [TOTAL
STATE |FED. AID PROJ. NO.| "GZi&™ | NG [SHEETS

MASS. | BR=XXX—XXX(XXX) | 19XX | XXX | XXX
PROJECT FILE NO. XXXXXX

4" WEEP HOLES

*
XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION

XXX USE ONLY PRINTS OF LATEST DATE

SHEET P2 OF XX SHEETS BRIDGE NO. C—=5-5 (XXX) (*)




STATE [FED. AID PROJ. NO.| Ml [ S5 [ 01A
MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX

GLULAM RAIL gp% ééﬂBJoé i”xm 1/2" PROJECT FILE NO. XXXXXX
., - 5/8” DIA. BOLT
6 3/4 ~ /
\ b ”»
\ 1 =1

o Y e N | :N ™)
8 A vl o ®
— <
______________________ “ /"
o ety O ® ]
- 89%, 8x8 POSTS -
—1 3/8” 0.C. e
5 1/2x5 1/2x —— 3/4” DIA. BOLT \E/5v>;6%><H1E/R4 V\I/Z;IT_ﬁTE — - \\/SV>|<_|€|.|_>|<'|:,{/24,|,D|_[,§\|:|;\E e . (——) )
— 1/4 PLATE : ”
T // ox12 CURS WQSHER ‘ ‘ 1 3/8" HOLE / ‘ 74
N
et _33[1 1/4" DIA. BOLT I, 7 | | A} /\
{E::::_m_:::—:::::z:::: - 4 _H_ _H_ _IL.J_ @ _ILIJ_ _IL.J_ _IL.J_ _:;J:_ _:L.J_ _:LIJ:_ @) _:LIJ_ _:LIJ_ _:LIJ_ 4 L
T A i | 4” DIA. SPLIT RINGS 1 1 B o 1 O .
INTERNAL PLATE AND Il Il Il Il Il Il Il I11 I11 I11 I11 I11 I11 5/16 3
UT/BAR_EXTENSION T ] ] [ o e
oo, ™ Y I 1 1 Y I I 1 1 S | N 1 Y I 1 1 £60 3x3x1/8 ANGLE
2 J ; i__:_I.I_J: \; 8x12 SCUPPER BLOCK i__:_IJI__l L_:_IJI__E L_:_IJI__E i__:_IJI__l i__:_IJI__l I__:_IJI__I L_:_iJI__l I__:_iJI__l i__:_iJI :_iJl_i I__:_iJI__l i__:_iJI__E 2]_ 5/,I 6 ‘/6
" S 7 5 1 1 5 O O T A o I 4'—0" LONG it e 1 e i i i [ e 1 11 e 1 i >
AT T T T T T T T T T T i T T I T Ty i i i i i i K K K K K K 1 e ——
“— || I N 58" DA ASTM A722~ 7 Il I I I It It f | N . | | f S
|l £ STEEL ROD (2 PER i i i i i i i i i i i l
: v e e
o SIEEL POST PLATE
2 10 MIN. p 6 p 6 L & il 3/4” DIA. x 16" DOME HEAD 27
’I 1 i 3/4” DIA. HOLE SRIVE SPIKE AT T/2. SCALE 1"=3"-0
SEE G1 FOR BRIDGE RAIL NOTES. SEE G1 FOR BRIDGE RAIL NOTES. SEE G1 FOR BRIDGE RAIL NOTES.
RAILING DETAIL — END VIEW RAILING DETAIL — FRONT VIEW RAILING DETAIL — BACK VIEW
SCALE 1 1/2"=1'-0" SCALE 1 1/2"=1"-0" SCALE 1 1/2"=1"-0" o
5/8”DIA. BOLT
(2 EACH SIDE) \‘ 6x12 6x12
8x8 POSTK\ B | 11/16” DIA. HOLES 7 | /
| |
SPACER N A SEE STEEL SPLICE (2 EACH S|1D5E/)16,, JA HOLES / i ,/
45 7/8” DIA. BOLTS AN PLATE DETALL /\ | l
(z{ EACH SIDE) X i Q (4 EACH SIDE) B B @ @ @ i - o
: AN I S— | 3 : | |
16066 0o A s LA
| | T T o o T T
= | | = o i N . l - L
%h® @ i@ @i @ @ RAIL % ' ii ii ;; | ;; \} ii | —— <+ O O 0 0 O O © 3/4” DIA. BOLT (TYPICAL)
A I R N N l Pl AN VIEW
N %—1/4” MAX. GAP { L Lz Q 25"
. POST 4" | 57 [p” " 3, 6" | 6 | 6 |3
~ $ T2 7541 0 7 7 7 7
5/8"x25 1/2” KERF ON T & ~
RAIL ¢ FOR PLATE L . L , \2 N m m m m
GLULAM RAIL SAS = | | | |
(N 1 = i i i m— - -—
R
RAIL SPLICE DETAIL — FRONT VIEW  RAIL SPLICE DETAIL — PLAN VIEW SIEEL SPLICE PLATE
SCALE 1 1/2"=1'-0" SCALE 1 1/2"=1"-0" SCALE 1 1/2"=1"-0"
/3/4” DIA. HOLE (TYPICAL) L 3/47 SIDE VIEW
“ J/ |
© o - CURB SPLICE DETAIL
07 B SCALE 1 1/2"=1"-0"
[ 1 [ 1
o] B *
[ i
XXX
ISSUED FOR CONSTRUCTION
INTERNAL STEEL PLATE s — FOR_CORST
SCALE 1 1/2"=1"-0" XXX USE ONLY PRINTS OF L[ATEST DATE

SHEET RT OF 20 SHEETS BRIDGE NO. C—5—95




< 1,]’_6’7 » < 11’_6” »
(TYP. EA. SIDE) (TYP. EA. SIDE)
[ o)
i i ! | | ! I
I \& | i / I l
| |
#6B1E OR #6B2 | | #6B1E OR #6B2
9” 8—#4AE @ 1'—6" CTS. | 3" 3" | 8—#4A1E @ 1'—6" CTS. 9”
gl (TOP OF SLAB) n = = i (TOP OF SLAB) gy
| |
= : 4l 4AAE OR #4A2 H#4A1E OR #4A2—1ht : =
| |
™~ | | ™~
N | | N
< | | <
m m
2 | | 2
N, | | m
e | | L O
< | | <
A |— A |—
: S | | SO :
CI) +vv | ! \/\_/ Y C|J
3 i | /7 | 2l B
N Nz OlO N
L | | » k
wpe 90°—00’-00" 14/\ . “~— { BRIDGE o 90°—00"—00%*(©
olo | L 90°—00"=00 | 90°—00’—00 olo
o8 | | o8
m|o | | m|©o
S | | | | S
| o 9" B—#4A2 @ 1'=6” CTS. | 4_3” 3”_‘» | 8—#4A2 @ 1’=8" CTS, 9" oo =
TR = (BOT.  OF SLAB) | ™ —~ | (BOT.  OF SLAB) =~ S
- | | IS
o | | N
| |
_—
F4ATE OR #4A2 _>: . 1—6” EXIST. 1'~6” EXIST—] |V_ F4ATE OR #4A2
FILL FACE—»= BACKWALL BACKWALL ~—FILL FACE
6" I +——C JOINT € JOINT— | 6"
CAAMFER ™~ | | —1 [“CHAMFER
#6B1E OR #6B2 | | 46B1E OR #6B2
| |
Y r/ | | R\ Y
Y Y i i Y Y
I I
:P() -
PLAN @ END BENT 1 DI AN @ END BENT 2
3” HIGH BEAM BOLSTER UPPER ( BBU ) @ 3'—0” CTS. ACROSS SLAB
i
PROPOSED }) HANTE SEE "COMPRESSION JT.
BITUMINOUS 6” Hap1E ; 46B1E 4682 SEAL DETAIL” ON THIS SHEET.
PAVEMENT ‘*‘ o |
J Ny 4|
SO SNN"N"N" NN\ (N AW * N
/S S Z —® (@] ® * B &
JVAVSERVAVSERVAVE | 7 ° =
VAW — — _
¢ =l Tk «3 $
d‘ “ L
O
14p? ~ 4ap2 SECTION SHOWING SEAT DETAIL.
D * SEE SHEET S2 FOR SEAT
. 10 -0 - 2 : 1 SLOPE " CONCRETE AND REINF
6” COMP. A.B.C.

APPROVED WIRE BAR

SUPPORTS @ 30" CTS.

SECTON THRU SLAB

SCALE 3/4"=1-0"

* * NORMAL TO END BENT

(2) LAYERS OF 30 LB.

ROOFING FELT TO
PREVENT BOND

APPROX. LEDGE LINE

N

EXISTING

XS

NOTES

FOR PREFORMED COMPRESSION JOINT SEAL, SEE SPECIAL PROVISIONS.

THE PREFORMED COMPRESSION SEAL SHALL BE PAID FOR AT THE CONTRACT
SEE GENERAL DRAWING.

LUMP SUM PRICE BID.

THE OPENING SHOWN IS BASED ON A NOMINAL UNCOMPRESSED SEAL WIDTH

OF 3"
THE 6” COMP. A.B.C.

AND 1'—0" OUTSIDE OF EACH EDGE OF SLAB.
THE CONTRACTOR, AT HIS OPTION, MAY USE 4" BITUMINOUS CONCRETE

BASE COURSE, TYPE HB IN LIEU OF 6" AB.C..

ANY ADDITIONAL COST

DUE TO THE USE OF THIS OPTION WILL BE PAID FOR BY THE

CONTRACTOR.

FOR EPOXY COATED REINFORCING BARS, SEE MHD STANDARD
SPECIFICATIONS SECTIONS M8.00.0 AND M8.01.7.

1/4"
CHAMFER
CONT.
BAR ,-%
%n 2”)(2” 1/4 1@4

@ 6" 0.C.

5/8" DIA. LAG

/A /

2" ASPHALT

\

o

/7
L/

™~
(@]
S
o0

8 3/4”

BENT PL 3/8 x 20 x 24'-0”
(2) REQUIRED

3/4" DIA. LAG
@ 6" 0.C.

COMPRESSION JOINT StAL DETAIL

STATE [FED. AID PROJ. NO.| Ml [ S5 [ 01A
MASS. | BR-XXX-XXX(XXX) | 1997 | XXX | XXX

PROJECT FILE NO. XXXXXX

IS TO EXTEND 10°—0" BEYOND THE SLAB AS SHOWN

BILL OF MATERIAL

FOR APPROACH SLAB @ END BENT NO. 1

BAR| NO.| SIZE | TYPE| LENGTH | WEIGHT
ATE| 8 #4 | STR.| 23'-8"| 126
A2 8 #4 | STR.| 23'-8"| 126
B1E| 48 #6 | STR.| 10°=8"| 721
B2 48 #6 | STR.| 11'=2"| 805

EPOXY COATED REINF. STEEL =84/ —LBS.—

REINFORCING STEEL = 931 —LBS.—

CLASS "A—A" CONCRETE = 8.8 —CU. YDS.—

FOR APPROACH SLAB @ END BENT NO. 2

ATE| 8 #4 | STR.| 23'-8"| 126
A2 8 #4 | STR.| 23'-8"| 126
B1E| 48 #6 | STR.| 10°=8"| 721
B2 48 #6 | STR.| 11'=2"| 805
EPOXY COATED REINF. STEEL =847 —LBS.—
|| || |
REINFORCING STEEL =931 —LBS.—
CLASS "A—A" CONCRETE =8.8 —CU. YDS.—

"E” INDICATES EPOXY COATED REINFORCING
BARS.

QUANTITIES INDICATED ARE FOR ONE APPROACH
SLAB.

SCALE 1"=3"-0"

XXX

XXX

ISSUED FOR CONSTRUCTION

DATE

XXX

DESCRIPTION

USE ONLY PRINTS OF LATEST DATE

SHEET

S

OF 20 SHEETS BRIDGE NO. C—5—95




<+

A 4—‘ B C 4—‘
FISCAL | SHEET [TOTAL
OF TRUSS—= ¢  BRIDGE —» =XISTING FLOOR BEAM OF TRUSS—= e o oo [ 0. S
¢ | 200" SEAT EL. 645.97 (TY% ¢ | MASS. | BR=XXX=XXX(XXX) | 1997 | XXX | XXX
- — ] - PROJECT FILE NO. XXXXXX
|
b ” b) ”» I b » b 2 b ” b ” I ) 2 b ”
APPROX. LEDGE OR . 8'—0 . 3-0" . 2-0"_ 12'=0 B 12'=0 _.2-0" . F-0" 7'=0 _
EE(?EUNODF LA'EETQTENT C BEAM SEAT G BEAM SEAT G BEAM SEAT ¢ BEAM SEAT / G BEAM SEAT
g_ =”I: 4)_0” e 3’_0” e 4 6” =|: 4)_6” e 4,_6 =|: 4’_6 e 3 O” e 4)_0” =I,l:’_O=”
_____________________________________________________ | EXISTNG . , | | BILL OF MATERIAL
S 1/2 7 x 9" PLATE ! BAR | NO.| SIZE | TYPE| LENGTH | WEIGHT
________________ I R I I ____QO_BEEEﬂOXEDjZ I e ey e (R I I EL. 648.84 H 10| #4 |STR.| 5-3" 35
] T T \__T___ATS{___* _________ i ___#ZHZ____ - _x__‘ _______ | T Y F [ 2 | 5 | #4 | SR | 20-0" | 67
4S3 N TYP. i *  EL. 647.91 , ~ H3 | 16 | #4 | STR.| 1-8" 18
| ¥ | | Z%rYp =<1 =11 T+ e ——1——— oI e CL ~
4H1 y - ~ -
| QD_ | # \ L] =\/ [ ) | [ ) [} } . \ [ #e [ | . / ' ) / ' | . \/'\ | <TYP‘> ~ (@) " ”
o= 452 RIREIN | | | | i | A | s | ~ | S1 | 10| #4 | 1 2’-9 18
' K ' / (e ~ O e o NS | EL 64622 S~ “ [s2 [ 10| #4 [ 1 | s-10" | 26
| N 7 —El\: AN L —— L | —— L R DR L L R L i T ©F IR S3 | 10| #4 | 1 2'—6" 17
| . | ' ' i ' — T ﬁ |l T ! 7 AT L r | 1 \ r ! 1 i B ' g ~ T
| BT sy | \ | | nyn g | | | | | | | 3¢ vy [sa s g4 1| 22 26
| o= | ' | | [ ETYPO TS | | ' | | | | | =~ |
| S H LN | | RN \___/[(_ | | T4 | | | I | | | | _ | ut | 10| #4 | 2 3-9” 25
| | AU3 ~ L | k | U2 10 | #4 2 4’ —6” 30
| | =Y ——#454 R D | EXIST. BRIDGE SEAT | U3 | s 4s | 2 73" 39
| | (\—T¢31> TYP’> Til;:é) _________________ FL. 644.29 (LEVEL) |
EL. 642.29 =+ : =
S — S T 2 L G e — o= —r—b R = — e — REINFORCING STEEL = 301  —LBS.—
/ \\// \// \\/ 4 W8 A \\/ 7/ \\//\7 \\/ \ / \7 \// \//\7 \//
N N N N N N N N N N N CLASS "A—A” CONCRETE = 5.0 —CU. YDS.—
| EXISTING 4” WEEP HOLES (TYP.) s 1/ P14 12 2t s s hs 1ot s 1ss SEE "BEAM
SEAT DETAILS” BAR TYPE SCHEDULE
¢ BEARING —= ANGHARER NG {TY ) avpy TP TvP) EXISTING ABUTMENT CONCRETE
5 _p” 157 | 18" 3 3/4 " (TP, 5—#451 & #4S2 & #4Un TO REMAIN 57
- L - EA. END) @ 1'-1 1/2 7 CTS.
| (TYP. EA. END) -l «l ™
EL. 648.84 0| V| v
l___—i A B C ' S
| |
| #4S2 EPOXIED OR N I
, (TP ) 4 | C| GROUTED INTO EXIST. CONCRETE. 9T
4HT (TYP. | !
N _\ I ELEVATION OF WEST ABUTMENT | &
F— EXISTING 44 @ 12" CTS.
_ i / oy ) W/ 3#5 x 11'=0" o ]
N A ADDITIONAL BARS. " v Yy
y J ‘ | e * - —
| EL. 644.29 | ° )
1 T A EXIST. #6 @ 12” CTS. 117
® |+6-“@T | 8. - -
A . \
| . PLAN VIEW 593 5193
| \ E1>9§T|,[\‘G 9" PLATE Y !
X
N\ \ \ APPROX. LEDGE LINE (TO BE REMOVED) b BEARING —= AENEN AENEN
// / ol 150 g SEE "APPROACH SLAB” SHEET - 2-o0" =3 1= 2-0" S S A @ S P
SECTION A - o D FOR DETAILS
- AaH2 (TYP)— =/ % N
SEE "BEAM EXISTING FL. 648.84 4L i > I | R
SEAT DETAILS 1/2 7 x 9” PLATE ——#454 EPOXIED OR _
(TO BE REMOVED) | EL. 647.91 GROUTED INTO EXIST. CONCRETE. |
— _h ] = e f —
2o\ 157 ! qg” SEE "APPROACH SLAB” SHEET , — 3y :
F T e FOR DETAILS 3 ¢ 2-#4H3 AU~ (i 1T Q
| % — 2
#4H2 (TYP.) % 5 £ 84597 Y ! —— #454 EPOXIED OR _
eLoe48.84 N I\ | ] | GROUTED INTO EXIST. A \
— 1 : : CONCRETE.
4454 EPOXIED OR ol “”T LH | ,
{ EL 647.91 | GROUTED INTO EXIST. CONCRETE. o | EXIST. #4 @ 18" CTS. cLEVATION
| C f——L’> = b = EL. 644.29 ) (TYP.)
| N A () | N Prabeint R b : 1'~3"
J pav— [I=T ”T Aol2” CL, 8 EXIST. #6 @ 12" CTS. . _
: r T | | II ~ X
‘5| EL. 645.97 | —— #4S3 EPOXIED OR N o e
—I e | GROUTED INTO EXIST. L—/———”—’T— . I anens
] “mT | | CONCRETE. ” EXISTING | —~ \ :
oo i AR EXIST. #4 @ 18" CTS. 4" WEEP HOLE < APPROX. LEDGE LINE N
EL. 64429 {7vpy™ ) (TYP.) / 5
[ : . ’ —
| 4 12 , ﬁ EXIST. #6 @ 12" CTS. J/ 4 |
| -~ \ T
——————— N
I S SECTION C—C S @
*OWEEP HOLEJ\ \ APPROX. LEDGE LINE - OND O VIEW
/ / *
XXX [SSUED FOR CONSTRUCTION
SECTION B—B XXX DATE DESCRIPTION
BEAM SEAT DETAILS XXX USE_ONLY PRINTS OF LATEST DATE

SHEET

S22 OF 20 SHEETS BRIDGE NO. C—=5-95




SHEETS
XXX

NO.
XXX

FISCAL | SHEET [ TOTAL

YEAR
1997

PROJECT FILE NO. XXXXXX

STATE |FED. AID PROJ. NO.
MASS. | BR=XXX—XXX(XXX)

—2-6" X 18" X 1'-5 1/2" FILLS

6—4" SPLIT RINGS

3/4" DIA. BOLTS
NOTCH DIAGONALS 2" AS SHOWN
NOTCH HORIZONTALS AS REQUIRED

“7 NOTE: ()

1’-0"

”

1

TYPICAL CONNECTION
ADDITIONAL RINGS SPACED AS SHOWN
SCALE:

4” SPLIT RINGS —\\

ISSUED FOR CONSTRUCTION
DESCRIPTION

USE ONLY PRINTS OF LATEST DATE
OF 20 SHEETS BRIDGE NO. C—=5-0°

DATE

XXX
XXX
XXX

SHEET T1

=
o
T
o
m
]
* 25
P % , %m
N - )\7 2 %/ -)7|
z M\ M
\' V ~ ] m ~ ]
MHHHHHHHHHHHHHHHWH_ \\\\\\ L s%/ i IR MHH\ —————————
O —— [ e m_ “s G A N ——
I p | o <. TR
— SN DS SIS i ID/T
T T— cee =% olx,e vﬁ@mwm \\\\\\\\\\ —% oo oo
o o To VS DD gl gl
il i N K o X il i
A SRR - ——= \/WH \\\\\\\\\\\\\\\
S E—— ; R = AT L
B === W‘% e e N GO S e I — B ===
| > . - | 1
: N V- - \
N
/ T R D - e /
. N (]
v\Qonv\_,n AN ‘ iz \\ =90
..sV\ ya o o_Jm
b\nv\ oF \\ EO W
ms ! - _._._M_._I._ M/..U
= |\ | o MDAN.” o 8
N e ® 5 9 285 ; T
: T WI< o) =)
3 S xo 3 - S,
o ; w5
MMM /// o //L nmum
o . @©
yd ' > AN A /
_ _ - ,_V@\ - VAV\ R 0|
N S % K &7 &Ww S
< 9) |
/, I \\ ‘ VOQM\_\ Q// \\\\\\ /
PE T \ g S ” GENC N e
: e B w_\m% T Q \@\&v\ SN Br=f==s===22=23=1
LI SO L7 — .3 ¢ \\\ SO 7
i 0 N9 S| o TN | i 0
R T L L Loy @O == ( | O® 111 O
T T — eeeo >, — — —— —— —oxe — — ———— > PN @%@uﬂ s S 1 | Y R
" o o @ = RO &) i il
[ Il 5 %_ ) I / / o X — N i i
R S s X / .
G i AR, wLn e e B S A s B = N
MHHHHHHHHHHHHHHHWH_ _ m wﬁ_v \HHiHH\ / / \ \HH,HWM\H;R_U _D|H m\
L < <+ <
ﬁ@\% MO % = @ @ @l 7y N O0e L ‘ﬁ\%‘ -
LR I £ (S S38T “pHess . {1
a a ~ O N A Og PSR B _ (a )|
- - = S . . N9 9 - -1
-0 -0 S o oINS D S O -0 -1
- - L SISIS: N9 O Q) — - -1
© T e eI <
T i j_/\ —
T~ | 9.9 | o « Il wn v a ({7}
4 & 1r | = B S s L Yo T/ 2 I Wa
_._lm Br—fpo————————4-dm M I .-.A_u Amn m whH ¢ .Dlu 1 Yo} VBW
% ak 2/ 17 oy o e g L R
— «“ S = . L X
N<C M (=] s <+ 0o
' L © +38- o 0 _ =
- |_ m, I.l.\(4 —I -~ A M/-\ll
B <C © & no = - o)
25 | |- | T: S | s SRR I \
e | 9 R 5 v |Z Ol
o ~ o - =\ /
_/m/ \\\\\\\\\\\\\ W_LMMT W w \\M_MW\\\M\N \ / 9\_ \Um_w\w\\\m C — m m/ \\\\\\\\\\\
mMH MHMHMHM HMWH_ S “ M ‘\W\WMWMH - ~ \ssMJ sﬂV \/\\\\\ ,‘\\ \WHHHHTH\\‘ B m mMH MHMHMHM HM
o —| 3 ) - \ AN (% 4=% \\/ T > %
I I N XIS o Q|- - Y TN e Ll & I I
_ _ x_v - —f-H x_v 1A Ll o @D S>=< Rw A% || 11 |
: : : “ OO - - - - - F 01,9 - - - - —xeeel - - - - ot
[ S e Ts @ = DN i iy
i i 5 \M\ YD G i i
EWUI%Z vﬁ \HM\H\ \\/ \\ W[‘\W\T) mHHHHHHHHHHHHHHH
: O S  ; B W S - 1= : S S
mHHHHHHHHHHHHHHHWu - 5« 4 \\TZ\\.H\‘ mHHHHHHHHHHHHHHH
\”AR.T 0 V\NJ\A,A\\ AN ( mm \ e - \
/| £ SV RS .4 \
A /7
” . 2,
N . 5
2 5 N / =
= = AN Yy 15
~< &P e B % _ o2
l_D mHHHHHHHHHHHHHHHWu \HHHH K c_,ku my
MoWrA _\ _\ < AN \ o aMM./
av|A3 7 Q_ o >¢ ]
T )
o\ \ ﬁ
X
” 5 N\
i i A
N A A ™~ ; S S
A/\ ”A-| | MHHHHHHHHHHHHHHH
) s b =2 L e
MHHHHHHHHHHHHHHHWH_ A R nn/_ Mﬂu
”Ano ,\\\ \\ V W | 3}
|| | | 7 | |
— Lo L OO = ik N ool o
1 +— 1©06| - - - - - 3 | - -0
—— e — o0 [ = \ IR S Rass A8

1 ’_O”

EXISTING HALF PLAN OrF BOTTOM CHORD

SCALE 3/8"




SHEETS
XXX

NO.
XXX

FISCAL | SHEET [ TOTAL

YEAR
1997

PROJECT FILE NO. XXXXXX

STATE |FED. AID PROJ. NO.
MASS. | BR=XXX—XXX(XXX)

SISTER

4" DIA.
SPLIT
RINGS

\— SIDE PLATE

WASHERS
31/2"

0.D.

6—4" SPLIT RINGS

3/4" DIA. BOLTS
NOTCH DIAGONALS 2" AS SHOWN
NOTCH HORIZONTALS AS REQUIRED

4" SPLIT RINGS —\\

“Z NOTE: ()

PLATE DETAIL

SECTION A—A

6x18

2/l -5t

AVINTO LL X ¥/ 9

@@@ OO0

9 1/2"

AVINTO LL X ¥/ 9

1" = 1'-0
51/2" 7,
6 3/4”

TYPICAL CONNECTION
ADDITIONAL RINGS SPACED AS SHOWN

SCALE

¢ OF BRIDGE

D e oe e — - = WINT L X p/f 9 ————

41/2”

—

SIDE VIEW

FRONT VIEW

REPLACE BOTTOM

CHORD

L, | I,

U | S—— — N

" FILL

)

X2

2'x18"

10" x 18" FILL. CUT

TO FIT DIAGONALS

PROVIDE

” SQUARE SIDE
/ 1/4 x 18

7’—8”
HANGER W

DOU B{E GUSSETS.

3/8" x 17 1/2
7/8”" DIA. BOLTS AND 4~
DIA. SHEAR PLATES.

PL W

”
P

[

2'-0

NEW POST LOCATION

/
L REPLACE BOTTOM

S —

CHORD WITH GLUED
LAMINATED TIMBER

—

AL | I,

71 52” FILL
A. BOLTS

15)_4”
50

/4

Ze 3/4” x 19 1/4”

"x18”
)3

2
)

|

_.N_
”

2'-0

4’—8”

»

»

REPLACE SPLIT RINGS W/ SHEAR PLATES.

1/4” GUSSETS ADDED BETWEEN.

7’—8”

10”"x18" FILL. CUT
TO FIT DIAGONALS

_/

(36) 3/4” DIA. BOLTS
4" SPLIT RINGS

9%
@2 Q

\

SPLICE: (4) 3"x18"x3'—4"

'S TO ACCOMODA
SHEAR PLATES, 1/4

PLATE. SEE PLATE

DETAIL.

2/ 112

RE-MILL OR REPLACE

(2) 6x18

AN

\

T/ 1/4 x 18
S. ‘PROVIDE

7/8" DIA. BOLTS AND 4"

DIA. SHEAR PLATES.
WELD TO SIDE PLTS.

78"
N\
W

\

AN

DOUBLE GUSSE

2'-0

REHABILITATED HALF PLAN OF TOP CHORD

SCALE 3/8"=1"-0"

>
HANGER PL

/N2

=

S —

—

AL | I,

15'—4"
'~7 1/2" FILL
¥ oin. 641

/4

8”

/— 14”%

REHABILITATED HALF ELEVATION OF TRUSS

SCALE 3/8"=1'-0"

U | S—— —_ N

_.N_
”

2" FILL

x18"x2'=7 1
3/452 DIA.

)

2
4

D ] 40
B
0| il
i e i o
HHHHHHHHHHHHHHHWH_ -
Hﬁ b 4
%]
&g [ 1
~
1a
.
M
T
A
N
i s I
Br=F=————————d-dm
D ] 40
B
_m 1] 1] _m ]
-
e g
HHHHHHHHHHHHHHHWH_
\dr \F «
-t -
-0 -1
-0 -1
-0 -1
-0 -1
-0 -1
///?
e s i g s
n”m B-=f====c—====g=-&
8
~<C
=
Sy
o || ™M T
x
)
_//
i ittt G 22
Br=F=————————d-—dm .
m m m E_ N
M — L1 [
D ! i e
D] T [ s
i ittt G 4
HHWHHHHHHHHHHHW_ _
.,A.
/
;\,.I
(%]
N
e ettt e 24
_ HHHHHHHHHHHHHHHWH_

6

|

2'—0

OGEE WASHERS.

77_ 8”
(2) 3/4” BOLTS

W
10”x18" FILL. CUT

TO FIT DIAGONALS

REPLACE THE EXISTING BOLTS

W/ 7/8" DIA. BOLTS.
AT (9) LOCATIONS

THIS CONNECTION.
PLATES TO EACH FACE OF

APPLY (9) 4" DIA. SHEAR
THE EXISTING CHORD.

. SHEAR PLATES

ADDED TO THE OUTSIDE FACE
OF THE (2) 6x18 D. FIR NO. 1D

SISTERS. PROVIDE (10) SPLIT
RINGS BETWEEN THE NEW WEB

PROVIDE 5'2) 3[8” SIDE PLATES
W/ (10) 4" DI
AND THE 6x18 SISTER.

SHADED AREA DENOTES
6x18 SISTER EACH SIDE.

LTS AND
ATES APPLIED

TO THE OUTSIDE FACE OF THE

B%E PLATES
g%ngl)-'\gSB D. FIR NO. 1D

IA.

7.
8
- SHEAR PL

S —

) 7/8" DIA. BOLTS AND
DIA. SHEAR PLATES APPLIED

2

d

A
O THE OUTSIDE FACE OF THE

SPLIT RINGS BETWEEN THE BOTTOM
CHORD AND THE FIRST DIAGONAL.

TO THE SAME BOLTS ADD 4" DIA.

BOTTOM CHORD.

ADD
0

A5 1/2”

Hinging

15'—4"
X187x2'=7 1/2" FILL:
/4)‘;2 oia. 4475

)

G

AL | W,

ISSUED FOR CONSTRUCTION
DESCRIPTION

USE ONLY PRINTS OF LATEST DATE

DATE

XXX
XXX

XXX
SHEET T2 OF 20 SHEETS BRIDGE NO. C—5-95

—
<
O
_|
e
Lol
=
e
Lo
m
=
_|
-
Lol
_|
<
<
=|.
<|?
=I5
M|
R
| w
| =<
Ol &
F/¢ 93
NI ™ 5
m.”mum.wwmw
nHHHHHIIH/HHHHHHan
N
I I
po L4
F— - B
ki

T
4’ ”)
0" 2'-0

N
Rk
AL

HALF PLAN OF REHABILITATED BOTTOM CHORD

SCALE 3/8"=1'-0"

2 1/2" DIA. SPLIT RINGS
DIA. BOLTS

1/2"

/

1

—2-6" X 18" X 1'-5 1/2" FILLS

REPLACE THE EXISTING BOLTS

W/ 7/8" DIA. BOLTS.
AT (7) LOCATIONS.

_+-12 5/8”

| g s gy e §
e e I e e B s B e s B e e |
T

GLUED LAMINATED

TIMBER

4”
2)

BRACING




[>A

/ SUPPORT NET OR FENCE

SUPPORT POST —=

s

—~— FILTER CLOTH

[

—

A

77 TO 8 MAX
~—— SUPPORT POST —™

—

MAGNETIC

CUT OR FILL SLOPE

EXCAVATE 6°x6"TRENCH,PLACE FILTER CLOTH

BACKFILL WITH ORIGINAL GROUND

SIDE _VIEW

POLE SPACING

/’_

—~+— FILTER CLOTH

7

AN
N SUPPORT NET

/4

OR FENCING

/A /4

ORIGINAL GROUND

SECTION A=A

POLLUTION CONIROL — SIET FENCE

FLOTATION DEVICE

WATER SURFACE —/

FASTENERS, TYPE & SPACING

CHANNEL BOTFom

A\

SILT FENCE
STREAM CHANNEL S \
XX

FISCAL [ SHEETTTOTAL

STATE |FED. AID PROJ. NO.| "vaamt | PNE [oitas

MASS. | BR—XXX-XXX(XXX) | 19XX | XXX | XXX
PROJECT FILE NO. XXXXXX

DISTANCE VARIES
AS REQUIRED

WORK AREA

PLASTIC FILTER FABRIC (SILT FENCING)
WITH FOLDS FOR WATER FLUCTUATION

10 BE APPROVED BY ENGINEER

STRUCTURAL ANGLE OR OTHER WEIGHT,TYP.

-

STREAM BANK

PLAN VIEW

[YPICAL PLACEMENT OF SILT FENCE IN STREAM

WATER SURFACE

PLASTIC FILTER FABRIC
(SILT FENCING)

AV AV

STREAM BOTIOM ROCKS

SHALLOW DEPTH SILT FENCE

TIMBERS o \,ﬁ7 —0

A\

FLOATING SILT FENCE

—— ANCHOR(TYP)
TYPE & LOCATIONS

10 BE APPROVED

POLLUTION CONTROL NOTES:

1. THE CONTRACTOR SHALL OBSERVE THE FOLLOWING
RESTICTIONS OR DO THE FOLLOWING TO SUPPLEMENT THE
PROVISIONS OF SECT. 209—TEMPORARY SOIL EROSION
& WATER POLLUTION CONTROL OF THE 1990 STANDARD
SPECIFICATIONS:

A. THE CONTRACTOR SHALL TAKE MEASURES TO ISOLATE
THE WORK AREA FROM THE STREAM FLOW. MEASURES
SUCH AS SILT FENCE OR OTHER APPROVED METHODS
SHALL BE IN PLACE PRIOR TO THE START OF STREAM
WORK.

B. NO WET CONCRETE, CONCRETE LEACHATE OR WASHING
SHALL BE ALLOWED TO ENTER ANY WATERS OR WETLAND.

C. DISTURBED STREAM BANK SHALL BE PROTECTED WITH
DESIGNATED STONE PROTECTION OR SEEDED & MULCHED
AS SOON AS POSSIBLE TO REDUCE POTENTIAL FOR
EROSION & TRANSPORT OF SEDIMENT TO THE STREAM.

D. ALL REQUIRED WORK TO ADEQUATELY PERFORM POLLUTION
CONTROL SHALL BE PAID FOR UNDER ITEM 209.07—
TEMPORARY SOIL EROSION & WATER POLLUTION CONTROL.
DETAILS SHOWN ARE SUGGESTED CONSTRUCTION METHODS:
ACTUAL METHOD TO BE APPROVED BY THE ENGINEER.

THE SELECTION OF ALL MATERIALS NOT SPECIFIED IN
SECTION 209.01 NECESSARY TO BUILD OR MAINTAIN
TEMPORARY SOIL EROSION & WATER POLLUTION CONTROL
MEASURES SHALL BE THE CHOICE OF THE CONTRACTOR,
SUBJECT TO THE ENGINEER’S APPROVAL.

2. EXAMPLES OF TEMPORARY POLLUTION CONTROL DEVICES,
MEASURES, & TECHNIQUES MAY BE FOUND IN:

A. THE BOOKLET "SUGGESTIONS FOR TEMPORARY
EROSION & SILTATION CONTROL MEASURES™
PUBLISHED BY THE U.S. DEPT. OF TRANSPORTATION.

B. THE BOOKLET "CONSTRUCTION GUIDE LINES FOR
TEMPORARY EROSION CONTROLS” PUBLISHED BY THE
N.Y.S. DEPT. OF TRANSPORTATION.

C. DETAILS SHOWN ON THIS SHEET.

*

XXX ISSUED FOR CONSTRUCTION
XXX DATE DESCRIPTION

XXX USE ONLY PRINTS OF LATEST DATE

SHEET W1 OF XX SHEETS BRIDGE NO. X—=XX—=XXX (XXX) (*)




	C1
	A1
	B1
	D1
	D2
	D4
	D5
	D6
	E1
	E2
	E3
	F1
	F2
	F3
	F4
	G1
	M1
	Masshwy
	N1
	P1
	P2
	R1
	S1
	S2
	T1
	T2
	W1

